

**FINAL TOURNAMENT SUMMARY**  
**2025 The ANNIKA driven by Gainbridge at Pelican**  
**Pelican Golf Club**

Sunday, November 16, 2025

Purse: \$3,250,000.00  
Par: 35 35 - 70 Yardage: 6349

POS	NAME	SCORES	TOTAL	TO PAR	OFFICIAL MONEY
1	Linn Grant	68-63-65-65	261	-19	\$487,500
2	Jennifer Kupcho	66-66-65-67	264	-16	\$303,994
3	Gaby Lopez	69-64-67-65	265	-15	\$220,526
T4	Charley Hull	67-68-68-63	266	-14	\$140,082
T4	Auston Kim	69-65-69-63	266	-14	\$140,082
T4	Lucy Li	70-65-65-66	266	-14	\$140,082
T7	Haeran Ryu	64-68-68-67	267	-13	\$88,211
T7	Nataliya Guseva	69-67-63-68	267	-13	\$88,211
T9	Brooke Matthews	70-69-64-65	268	-12	\$70,735
T9	Grace Kim	65-66-68-69	268	-12	\$70,735
T11	Pauline Roussin-Bouchard	69-71-65-64	269	-11	\$60,331
T11	Mao Saigo	67-70-67-65	269	-11	\$60,331
T13	Lindy Duncan	72-67-67-64	270	-10	\$52,925
T13	Karis Anne Davidson	73-63-68-66	270	-10	\$52,925
T15	Celine Boutier	71-66-69-65	271	-9	\$42,718
T15	Rio Takeda	69-68-69-65	271	-9	\$42,718
T15	Nanna Koerstz Madsen	71-68-65-67	271	-9	\$42,718
T15	Hannah Green	70-66-68-67	271	-9	\$42,718
T15	Esther Henseleit	69-66-67-69	271	-9	\$42,718
T15	Nelly Korda	71-63-68-69	271	-9	\$42,718
T21	Ina Yoon	69-68-70-65	272	-8	\$34,319
T21	Gurleen Kaur	70-66-71-65	272	-8	\$34,319
T21	Rose Zhang	68-67-71-66	272	-8	\$34,319
T21	Yuna Nishimura	72-64-67-69	272	-8	\$34,319
T21	Lauren Coughlin	68-66-69-69	272	-8	\$34,319
T26	Brianna Do	69-72-67-65	273	-7	\$29,459
T26	In Gee Chun	70-70-64-69	273	-7	\$29,459
T26	Brooke M. Henderson	70-66-68-69	273	-7	\$29,459
T29	Julia Lopez Ramirez	73-67-67-67	274	-6	\$25,631
T29	Somi Lee	67-73-67-67	274	-6	\$25,631
T29	Hye-Jin Choi	69-68-70-67	274	-6	\$25,631
T29	Gabriela Ruffels	69-68-69-68	274	-6	\$25,631
T33	Kristen Gillman	69-70-70-66	275	-5	\$22,191
T33	Patty Tavatanakit	70-67-71-67	275	-5	\$22,191
T33	Allisen Corpuz	68-69-70-68	275	-5	\$22,191
T36	Manon De Roey	71-68-70-67	276	-4	\$20,056
T36	Alexa Pano	70-69-65-72	276	-4	\$20,056
T38	Stephanie Kyriacou	71-70-69-67	277	-3	\$15,761
T38	Caley McGinty	71-70-68-68	277	-3	\$15,761
T38	Jasmine Suwannapura	71-69-69-68	277	-3	\$15,761
T38	Amy Yang	71-70-67-69	277	-3	\$15,761
T38	Yuri Yoshida	72-68-68-69	277	-3	\$15,761
T38	Bianca Pagdanganan	69-71-68-69	277	-3	\$15,761
T38	Robyn Choi	71-67-70-69	277	-3	\$15,761
T38	Madelene Sagstrom	68-69-70-70	277	-3	\$15,761
T38	Paula Reto	70-70-65-72	277	-3	\$15,761
T38	Carlota Ciganda	69-65-70-73	277	-3	\$15,761
T48	Jenny Bae	70-71-69-68	278	-2	\$11,941
T48	Olivia Cowan	68-72-69-69	278	-2	\$11,941

**FINAL TOURNAMENT SUMMARY**  
**2025 The ANNIKA driven by Gainbridge at Pelican**

Pelican Golf Club

Sunday, November 16, 2025

Purse: \$3,250,000.00  
Par: 35 35 - 70 Yardage: 6349

POS	NAME	SCORES	TOTAL	TO PAR	OFFICIAL MONEY
T48	Bailey Tardy	74-66-68-70	278	-2	\$11,941
T48	A Lim Kim	70-70-68-70	278	-2	\$11,941
T52	Chisato Iwai	69-71-71-68	279	-1	\$10,485
T52	Jenny Shin	69-72-69-69	279	-1	\$10,485
T52	Lauren Hartlage	68-71-70-70	279	-1	\$10,485
T52	Leona Maguire	67-72-70-70	279	-1	\$10,485
T56	Linnea Strom	69-72-69-70	280	E	\$8,987
T56	Celine Borge	75-65-70-70	280	E	\$8,987
T56	Anne-Sterre den Dunnen (a) *	72-68-70-70	280	E	
T56	Pajaree Anannarukarn	70-70-69-71	280	E	\$8,987
T56	Anna Nordqvist	74-65-70-71	280	E	\$8,987
T56	Cassie Porter	69-69-70-72	280	E	\$8,987
T62	Mi Hyang Lee	69-71-73-68	281	+1	\$7,989
T62	Minami Katsu	72-69-70-70	281	+1	\$7,989
T62	Sarah Schmelzel	72-67-70-72	281	+1	\$7,989
T65	Kate Smith-Stroh	73-66-71-72	282	+2	\$7,573
T65	Albane Valenzuela	68-67-72-75	282	+2	\$7,573
67	Ashleigh Buhai	70-71-69-73	283	+3	\$7,323
68	Miyu Yamashita	69-71-70-75	285	+5	\$7,158
69	Caroline Inglis	72-69-76-75	292	+12	\$6,989
	Wei-Ling Hsu	72-70	142	CUT	
	Akie Iwai	71-71	142	CUT	
	Megan Khang	71-71	142	CUT	
	Elizabeth Szokol	71-71	142	CUT	
	Aline Krauter	70-72	142	CUT	
	Ayaka Furue	69-73	142	CUT	
	Arpichaya Yubol	68-74	142	CUT	
	Aditi Ashok	75-68	143	CUT	
	Lottie Woad	73-70	143	CUT	
	Azahara Munoz	72-71	143	CUT	
	Dewi Weber	72-71	143	CUT	
	Gemma Dryburgh	71-72	143	CUT	
	Jin Hee Im	71-72	143	CUT	
	Yuka Saso	71-72	143	CUT	
	Pornanong Phatlum	69-74	143	CUT	
	Jessica Porvasnik	69-74	143	CUT	
	Caroline Masson	74-70	144	CUT	
	Jeongeun Lee5	72-72	144	CUT	
	Ingrid Lindblad	72-72	144	CUT	
	Peiyun Chien	71-73	144	CUT	
	Jiwon Jeon	71-73	144	CUT	
	Morgane Metraux	68-76	144	CUT	
	Jeongeun Lee6	72-73	145	CUT	
	Maja Stark	71-74	145	CUT	
	Lexi Thompson	71-74	145	CUT	
	Saki Baba	74-72	146	CUT	
	Emily Kristine Pedersen	74-72	146	CUT	
	Hira Naveed	72-74	146	CUT	
	Gigi Stoll	72-74	146	CUT	

**FINAL TOURNAMENT SUMMARY**  
**2025 The ANNIKA driven by Gainbridge at Pelican**  
**Pelican Golf Club**

Sunday, November 16, 2025

Purse: \$3,250,000.00  
Par: 35 35 - 70 Yardage: 6349

<b>POS</b>	<b>NAME</b>	<b>SCORES</b>	<b>TOTAL</b>	<b>TO PAR</b>	<b>OFFICIAL MONEY</b>
	Lauryn Nguyen *	71-75	146	CUT	
	Hinako Shibuno	71-75	146	CUT	
	Xiaowen Yin	71-75	146	CUT	
	Kumkang Park	77-70	147	CUT	
	Sung Hyun Park	75-72	147	CUT	
	Perrine Delacour	77-72	149	CUT	
	Lilia Vu	74-75	149	CUT	
	Soo Bin Joo	77-73	150	CUT	
	Benedetta Moresco	79-73	152	CUT	
	Kai Trump (a) *	83-75	158	CUT	

SCORECARD SUMMARY - By Leaderboard  
 2025 The ANNIKA driven by Gainbridge at Pelican  
 Pelican Golf Club

Sunday, November 16, 2025

Purse: \$3,250,000.00  
 Par: 35 35 - 70 Yardage: 6349

Linn Grant (-19)

AFTER ROUND 4 - TOTAL SCORE: 261

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	3	3	4	3	4	4	4	2	31	4	4	3	4	4	3	4	3	5	34	65
RD 3 (PEL)	4	4	3	4	3	3	5	4	2	32	4	4	3	3	4	3	4	4	4	33	65
RD 2 (PEL)	3	4	2	4	4	3	5	4	3	32	5	3	2	3	5	3	3	4	3	31	63
RD 1 (PEL)	3	5	4	4	3	5	4	3	3	34	4	4	3	4	5	3	3	4	4	34	68

Jennifer Kupcho (-16)

AFTER ROUND 4 - TOTAL SCORE: 264

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	3	4	4	3	3	4	4	4	4	33	4	4	3	4	5	2	4	4	4	34	67
RD 3 (PEL)	4	4	3	4	3	4	5	4	2	33	3	4	3	3	5	3	4	3	4	32	65
RD 2 (PEL)	5	3	2	4	5	3	4	4	4	34	4	3	3	4	3	3	4	4	4	32	66
RD 1 (PEL)	4	5	3	3	4	4	5	4	3	35	4	3	2	4	4	2	4	3	5	31	66

Gaby Lopez (-15)

AFTER ROUND 4 - TOTAL SCORE: 265

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	3	3	4	3	4	5	5	3	34	4	4	2	4	4	3	3	4	3	31	65
RD 3 (PEL)	4	4	2	3	5	3	4	4	3	32	4	4	4	5	4	3	4	3	4	35	67
RD 2 (PEL)	3	4	3	4	5	4	4	4	3	34	4	4	2	3	4	3	3	3	4	30	64
RD 1 (PEL)	4	3	3	3	3	4	5	4	4	33	4	4	4	4	4	4	4	4	4	36	69

Charley Hull (-14)

AFTER ROUND 4 - TOTAL SCORE: 266

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	3	4	3	4	4	3	4	4	3	32	3	4	2	4	5	3	4	3	3	31	63
RD 3 (PEL)	4	4	3	4	4	4	4	3	3	33	4	4	3	3	5	3	4	4	5	35	68
RD 2 (PEL)	4	4	2	5	4	4	5	4	3	35	4	3	3	3	4	3	4	5	4	33	68
RD 1 (PEL)	4	4	3	3	4	4	4	4	2	32	5	4	2	4	5	3	3	6	3	35	67

Auston Kim (-14)

AFTER ROUND 4 - TOTAL SCORE: 266

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	3	5	3	4	3	3	4	4	3	32	3	4	3	3	5	3	3	4	3	31	63
RD 3 (PEL)	4	4	3	4	3	4	5	6	2	35	4	5	3	4	5	2	4	4	3	34	69
RD 2 (PEL)	3	4	3	4	3	4	3	4	3	31	4	4	3	4	4	3	4	4	4	34	65
RD 1 (PEL)	4	3	3	5	3	4	4	4	3	33	5	4	3	5	5	3	4	3	4	36	69

Lucy Li (-14)

AFTER ROUND 4 - TOTAL SCORE: 266

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	3	5	3	4	4	4	4	4	3	34	3	4	3	3	4	3	4	5	3	32	66
RD 3 (PEL)	4	4	3	4	3	4	4	3	3	32	3	4	3	4	4	3	4	4	4	33	65
RD 2 (PEL)	3	5	2	4	3	4	4	5	2	32	4	4	3	4	4	3	3	3	5	33	65
RD 1 (PEL)	4	4	3	3	6	4	5	5	3	37	4	4	2	3	5	3	4	3	5	33	70

SCORECARD SUMMARY - By Leaderboard  
 2025 The ANNIKA driven by Gainbridge at Pelican  
 Pelican Golf Club

Sunday, November 16, 2025

Purse: \$3,250,000.00  
 Par: 35 35 - 70 Yardage: 6349

**Nataliya Guseva (-13) AFTER ROUND 4 - TOTAL SCORE: 267**

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	4	3	4	4	3	5	5	3	35	5	3	3	4	4	3	4	4	3	33	68
RD 3 (PEL)	4	4	3	4	4	4	5	4	2	34	3	4	2	4	4	2	4	3	3	29	63
RD 2 (PEL)	3	3	3	4	4	5	4	4	3	33	4	4	3	4	5	3	4	3	4	34	67
RD 1 (PEL)	5	4	3	5	4	3	5	4	3	36	4	4	3	4	5	3	3	3	4	33	69

**Haeran Ryu (-13) AFTER ROUND 4 - TOTAL SCORE: 267**

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	4	2	4	5	3	5	4	4	35	4	4	2	3	5	2	4	4	4	32	67
RD 3 (PEL)	4	4	4	4	4	7	4	4	2	37	3	3	2	3	5	3	3	5	4	31	68
RD 2 (PEL)	3	4	2	4	4	4	4	5	3	33	4	4	3	3	5	3	4	5	4	35	68
RD 1 (PEL)	4	4	3	3	3	3	4	4	3	31	4	4	2	4	4	3	4	5	3	33	64

**Grace Kim (-12) AFTER ROUND 4 - TOTAL SCORE: 268**

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	5	4	3	4	4	4	5	4	4	37	4	4	2	4	4	3	3	4	4	32	69
RD 3 (PEL)	4	4	3	3	4	3	5	5	3	34	4	5	3	3	4	3	3	4	5	34	68
RD 2 (PEL)	3	4	3	4	4	4	4	4	2	32	3	3	3	4	6	3	4	4	4	34	66
RD 1 (PEL)	4	3	3	4	4	3	4	5	3	33	4	4	2	4	5	3	3	3	4	32	65

**Brooke Matthews (-12) AFTER ROUND 4 - TOTAL SCORE: 268**

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	4	2	4	4	4	6	3	2	33	4	4	1	4	3	3	5	4	4	32	65
RD 3 (PEL)	3	4	2	4	3	3	4	5	2	30	3	5	2	3	4	2	6	4	5	34	64
RD 2 (PEL)	4	4	4	4	4	3	6	5	2	36	4	4	3	3	5	3	3	4	4	33	69
RD 1 (PEL)	3	5	3	4	4	4	4	3	2	32	4	4	3	4	5	3	3	6	6	38	70

**Pauline Roussin-Bouchard (-11) AFTER ROUND 4 - TOTAL SCORE: 269**

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	3	4	3	4	4	3	4	5	3	33	4	4	2	3	4	3	3	4	4	31	64
RD 3 (PEL)	4	4	3	4	3	4	4	4	3	33	3	5	2	4	3	2	4	4	5	32	65
RD 2 (PEL)	5	4	4	4	3	3	5	5	3	36	4	4	3	4	6	3	3	4	4	35	71
RD 1 (PEL)	4	4	3	4	4	4	5	4	2	34	4	3	3	5	5	3	3	4	5	35	69

**Mao Saigo (-11) AFTER ROUND 4 - TOTAL SCORE: 269**

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	6	2	3	4	4	4	3	2	32	3	4	3	4	4	3	4	4	4	33	65
RD 3 (PEL)	3	5	3	4	3	4	4	4	4	34	4	5	2	4	4	3	4	3	4	33	67
RD 2 (PEL)	4	3	4	4	4	3	5	4	3	34	3	4	3	4	4	3	4	4	7	36	70
RD 1 (PEL)	4	4	3	4	5	3	5	5	2	35	4	3	2	4	5	3	3	3	5	32	67

SCORECARD SUMMARY - By Leaderboard  
 2025 The ANNIKA driven by Gainbridge at Pelican  
 Pelican Golf Club

Sunday, November 16, 2025

Purse: \$3,250,000.00  
 Par: 35 35 - 70 Yardage: 6349

**Karis Anne Davidson (-10) AFTER ROUND 4 - TOTAL SCORE: 270**

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	3	4	4	4	3	4	5	3	34	3	4	2	4	4	3	4	4	4	32	66
RD 3 (PEL)	4	4	3	5	3	5	4	3	3	34	4	4	2	4	5	3	4	4	4	34	68
RD 2 (PEL)	4	4	3	3	4	3	4	4	3	32	3	3	2	4	4	4	3	4	4	31	63
RD 1 (PEL)	4	5	2	4	3	5	4	4	2	33	5	5	3	4	5	3	5	5	5	40	73

**Lindy Duncan (-10) AFTER ROUND 4 - TOTAL SCORE: 270**

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	3	4	3	4	4	3	4	4	2	31	3	4	3	4	5	4	3	4	3	33	64
RD 3 (PEL)	4	5	2	4	4	3	4	5	2	33	4	4	3	4	4	3	4	4	4	34	67
RD 2 (PEL)	4	4	3	4	4	4	4	4	2	33	4	4	3	4	4	3	4	4	4	34	67
RD 1 (PEL)	4	5	3	5	5	3	5	4	2	36	4	4	3	4	4	3	5	5	4	36	72

**Celine Boutier (-9) AFTER ROUND 4 - TOTAL SCORE: 271**

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	4	3	3	4	4	5	4	3	34	3	4	2	3	5	4	3	4	3	31	65
RD 3 (PEL)	3	4	3	3	4	4	5	4	3	33	3	5	3	4	4	3	4	4	6	36	69
RD 2 (PEL)	4	3	3	3	4	4	5	4	2	32	4	4	3	4	5	3	4	4	3	34	66
RD 1 (PEL)	4	5	3	4	3	4	5	5	3	36	3	4	3	3	5	3	4	4	6	35	71

**Hannah Green (-9) AFTER ROUND 4 - TOTAL SCORE: 271**

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	5	3	4	4	4	4	4	2	34	4	3	2	4	5	3	4	4	4	33	67
RD 3 (PEL)	4	5	3	4	2	4	4	5	3	34	5	3	3	4	4	3	4	4	4	34	68
RD 2 (PEL)	3	4	2	3	4	4	5	4	3	32	4	4	5	3	4	3	3	4	4	34	66
RD 1 (PEL)	4	4	3	3	4	3	5	4	2	32	4	5	3	6	5	3	4	4	4	38	70

**Esther Henseleit (-9) AFTER ROUND 4 - TOTAL SCORE: 271**

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	3	3	4	4	4	4	4	3	33	4	4	3	4	4	3	4	4	6	36	69
RD 3 (PEL)	5	4	2	4	3	4	4	6	3	35	4	4	2	3	4	3	4	4	4	32	67
RD 2 (PEL)	3	3	3	4	4	4	4	4	2	31	4	4	3	4	5	3	4	4	4	35	66
RD 1 (PEL)	4	4	3	4	3	3	5	4	3	33	4	5	3	4	5	4	3	4	4	36	69

**Nanna Koerstz Madsen (-9) AFTER ROUND 4 - TOTAL SCORE: 271**

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	3	5	2	4	4	4	4	4	3	33	4	4	3	4	4	3	5	3	4	34	67
RD 3 (PEL)	3	4	3	4	4	3	4	4	3	32	4	3	3	4	6	3	3	3	4	33	65
RD 2 (PEL)	4	4	3	5	4	4	3	5	3	35	4	3	3	3	5	3	4	5	3	33	68
RD 1 (PEL)	4	4	3	4	4	3	6	4	4	36	4	4	3	4	5	3	4	4	4	35	71

SCORECARD SUMMARY - By Leaderboard  
 2025 The ANNIKA driven by Gainbridge at Pelican  
 Pelican Golf Club

Sunday, November 16, 2025

Purse: \$3,250,000.00  
 Par: 35 35 - 70 Yardage: 6349

**Nelly Korda (-9) AFTER ROUND 4 - TOTAL SCORE: 271**

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	3	4	3	4	4	4	4	4	3	33	4	4	3	4	4	4	4	4	5	36	69
RD 3 (PEL)	4	4	3	4	5	4	4	4	3	35	4	4	3	4	4	3	3	3	5	33	68
RD 2 (PEL)	4	4	2	3	4	4	4	3	3	31	4	4	3	4	5	3	3	3	3	32	63
RD 1 (PEL)	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	5	36	71

**Rio Takeda (-9) AFTER ROUND 4 - TOTAL SCORE: 271**

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	5	3	3	4	4	3	4	4	3	33	3	4	3	5	4	2	4	3	4	32	65
RD 3 (PEL)	4	6	3	4	4	6	4	3	3	37	4	4	3	4	4	2	3	4	4	32	69
RD 2 (PEL)	3	4	3	4	4	5	4	4	3	34	3	4	2	4	5	3	5	3	5	34	68
RD 1 (PEL)	4	4	3	4	4	4	5	3	3	34	4	4	3	4	5	3	3	4	5	35	69

**Lauren Coughlin (-8) AFTER ROUND 4 - TOTAL SCORE: 272**

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	4	3	4	3	4	5	5	4	36	5	4	2	3	4	3	4	4	4	33	69
RD 3 (PEL)	4	6	3	4	4	4	4	3	4	36	3	4	2	4	5	3	4	4	4	33	69
RD 2 (PEL)	4	4	3	4	3	3	5	4	3	33	4	4	3	4	5	3	3	3	4	33	66
RD 1 (PEL)	4	4	3	4	4	4	5	4	3	35	4	3	3	4	5	3	3	4	4	33	68

**Gurleen Kaur (-8) AFTER ROUND 4 - TOTAL SCORE: 272**

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	5	2	3	4	4	4	4	3	33	4	5	2	3	4	3	4	4	3	32	65
RD 3 (PEL)	4	4	2	5	6	5	5	3	3	37	4	4	3	4	5	2	4	4	4	34	71
RD 2 (PEL)	4	5	3	4	4	3	4	4	2	33	4	3	2	4	5	2	6	4	3	33	66
RD 1 (PEL)	4	4	3	4	5	3	5	4	3	35	4	3	3	3	4	3	4	5	6	35	70

**Yuna Nishimura (-8) AFTER ROUND 4 - TOTAL SCORE: 272**

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	5	2	4	4	4	5	4	4	36	4	3	3	4	4	3	5	4	3	33	69
RD 3 (PEL)	3	3	3	4	4	3	5	5	2	32	5	4	2	4	5	2	5	4	4	35	67
RD 2 (PEL)	3	4	4	3	3	3	4	4	2	30	4	3	3	4	5	4	4	3	4	34	64
RD 1 (PEL)	5	5	3	4	4	4	5	4	2	36	6	4	2	4	5	3	4	3	5	36	72

**Ina Yoon (-8) AFTER ROUND 4 - TOTAL SCORE: 272**

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	2	4	3	4	4	4	5	4	3	33	4	3	3	4	4	2	4	4	4	32	65
RD 3 (PEL)	4	4	3	4	4	5	5	4	3	36	4	4	3	5	4	2	4	4	4	34	70
RD 2 (PEL)	4	3	2	4	4	4	4	4	3	32	4	5	3	4	5	3	4	4	4	36	68
RD 1 (PEL)	4	4	3	5	4	4	6	4	3	37	4	4	2	3	5	3	3	4	4	32	69

SCORECARD SUMMARY - By Leaderboard  
 2025 The ANNIKA driven by Gainbridge at Pelican  
 Pelican Golf Club

Sunday, November 16, 2025

Purse: \$3,250,000.00  
 Par: 35 35 - 70 Yardage: 6349

Rose Zhang (-8)

AFTER ROUND 4 - TOTAL SCORE: 272

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	3	4	2	3	4	4	5	4	3	32	3	4	3	4	5	3	4	4	4	34	66
RD 3 (PEL)	4	5	3	5	7	4	4	5	3	40	4	4	2	4	3	3	3	4	4	31	71
RD 2 (PEL)	3	3	3	3	4	3	5	4	3	31	3	5	3	4	5	3	5	4	4	36	67
RD 1 (PEL)	4	4	3	3	4	4	4	4	3	33	5	4	2	4	4	3	4	4	5	35	68

In Gee Chun (-7)

AFTER ROUND 4 - TOTAL SCORE: 273

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	3	4	3	4	5	4	5	5	3	36	4	3	4	3	5	3	5	3	3	33	69
RD 3 (PEL)	3	4	3	4	4	4	4	5	2	33	4	4	3	3	3	2	4	4	4	31	64
RD 2 (PEL)	3	4	3	5	4	4	5	5	3	36	4	3	4	3	4	4	4	3	5	34	70
RD 1 (PEL)	3	5	4	4	4	3	4	4	3	34	4	4	3	5	5	3	3	4	5	36	70

Brianna Do (-7)

AFTER ROUND 4 - TOTAL SCORE: 273

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	3	4	3	4	3	4	4	4	3	32	4	3	3	4	5	3	4	3	4	33	65
RD 3 (PEL)	4	5	3	4	3	4	4	4	4	35	5	3	3	4	4	4	3	3	3	32	67
RD 2 (PEL)	4	4	3	4	4	4	6	5	3	37	4	4	3	4	4	4	4	4	4	35	72
RD 1 (PEL)	4	4	3	4	6	4	4	4	3	36	4	4	2	4	5	3	4	3	4	33	69

Brooke M. Henderson (-7)

AFTER ROUND 4 - TOTAL SCORE: 273

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	3	5	3	4	4	3	4	4	3	33	4	3	3	4	5	3	4	4	6	36	69
RD 3 (PEL)	4	4	2	4	4	3	5	5	3	34	3	4	2	5	5	3	4	4	4	34	68
RD 2 (PEL)	4	5	3	4	3	3	5	4	2	33	4	4	4	4	4	3	3	3	4	33	66
RD 1 (PEL)	4	4	3	4	4	4	4	5	3	35	4	4	3	3	5	5	4	3	4	35	70

Hye-Jin Choi (-6)

AFTER ROUND 4 - TOTAL SCORE: 274

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	3	4	3	4	4	3	4	5	2	32	4	5	2	4	5	4	4	3	4	35	67
RD 3 (PEL)	3	4	3	4	4	4	4	5	3	34	4	5	6	4	4	3	3	3	4	36	70
RD 2 (PEL)	3	3	3	6	5	3	4	4	2	33	4	4	5	4	4	3	3	4	4	35	68
RD 1 (PEL)	3	4	3	4	3	4	5	4	3	33	4	4	4	4	4	3	4	4	5	36	69

Somi Lee (-6)

AFTER ROUND 4 - TOTAL SCORE: 274

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	4	3	4	3	4	4	5	3	34	4	3	2	4	5	4	4	4	3	33	67
RD 3 (PEL)	4	5	4	4	5	3	5	4	2	36	3	3	3	4	4	4	3	3	4	31	67
RD 2 (PEL)	4	4	3	4	5	4	5	4	4	37	4	5	2	4	4	4	5	3	5	36	73
RD 1 (PEL)	4	4	3	4	4	3	5	4	2	33	5	3	3	3	5	3	4	4	4	34	67

SCORECARD SUMMARY - By Leaderboard  
 2025 The ANNIKA driven by Gainbridge at Pelican  
 Pelican Golf Club

Sunday, November 16, 2025

Purse: \$3,250,000.00  
 Par: 35 35 - 70 Yardage: 6349

Julia Lopez Ramirez (-6)

AFTER ROUND 4 - TOTAL SCORE: 274

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	3	3	5	3	4	4	4	3	33	4	4	2	4	5	4	4	3	4	34	67
RD 3 (PEL)	3	4	3	4	4	4	4	4	3	33	4	4	2	3	5	4	3	4	5	34	67
RD 2 (PEL)	4	4	3	4	4	3	5	4	2	33	4	3	2	4	5	5	4	3	4	34	67
RD 1 (PEL)	4	4	3	4	5	4	5	4	3	36	5	4	3	4	4	4	4	4	5	37	73

Gabriela Ruffels (-6)

AFTER ROUND 4 - TOTAL SCORE: 274

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	3	3	3	4	4	4	5	5	3	34	4	4	2	4	5	4	4	3	4	34	68
RD 3 (PEL)	4	4	4	3	4	4	4	4	3	34	3	3	4	4	5	3	4	5	4	35	69
RD 2 (PEL)	4	4	3	4	4	4	4	4	3	34	4	4	3	3	5	4	4	3	4	34	68
RD 1 (PEL)	5	4	4	4	4	4	4	4	2	35	4	5	3	3	5	3	4	3	4	34	69

Allisen Corpuz (-5)

AFTER ROUND 4 - TOTAL SCORE: 275

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	5	3	4	4	4	5	4	3	36	4	4	3	3	5	3	3	4	3	32	68
RD 3 (PEL)	4	5	3	4	4	4	4	4	2	34	4	4	3	3	5	3	4	5	5	36	70
RD 2 (PEL)	3	4	3	4	5	4	4	4	3	34	4	4	3	5	5	3	4	3	4	35	69
RD 1 (PEL)	4	4	3	3	4	3	5	5	3	34	4	4	2	4	4	4	3	4	5	34	68

Kristen Gillman (-5)

AFTER ROUND 4 - TOTAL SCORE: 275

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	3	4	3	4	4	3	4	5	3	33	4	4	3	4	4	2	4	4	4	33	66
RD 3 (PEL)	3	5	3	4	4	3	4	4	4	34	4	4	3	4	5	4	4	3	5	36	70
RD 2 (PEL)	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	3	5	4	35	70
RD 1 (PEL)	4	4	3	4	3	4	4	4	3	33	5	4	2	4	5	4	3	4	5	36	69

Patty Tavatanakit (-5)

AFTER ROUND 4 - TOTAL SCORE: 275

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	3	5	3	4	2	4	4	4	3	32	4	5	3	3	5	3	5	3	4	35	67
RD 3 (PEL)	4	4	2	3	5	4	4	4	3	33	4	5	5	3	5	3	4	4	5	38	71
RD 2 (PEL)	4	4	4	4	4	4	4	4	2	34	4	4	3	4	4	4	4	3	3	33	67
RD 1 (PEL)	5	4	3	4	4	4	5	4	2	35	5	4	3	4	4	3	4	4	4	35	70

Manon De Roey (-4)

AFTER ROUND 4 - TOTAL SCORE: 276

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	3	4	3	4	4	4	5	5	3	35	3	3	2	4	5	3	4	4	4	32	67
RD 3 (PEL)	4	4	3	4	4	4	5	4	4	36	4	4	4	4	5	3	3	3	4	34	70
RD 2 (PEL)	3	4	3	4	5	3	5	5	3	35	4	3	2	4	5	3	3	4	5	33	68
RD 1 (PEL)	4	5	2	4	4	4	5	4	3	35	4	4	2	5	5	2	4	5	5	36	71

SCORECARD SUMMARY - By Leaderboard  
 2025 The ANNIKA driven by Gainbridge at Pelican  
 Pelican Golf Club

Sunday, November 16, 2025

Purse: \$3,250,000.00  
 Par: 35 35 - 70 Yardage: 6349

Alexa Pano (-4) AFTER ROUND 4 - TOTAL SCORE: 276

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	4	3	4	5	4	5	4	3	36	4	4	3	5	5	3	4	4	4	36	72
RD 3 (PEL)	4	5	3	4	3	3	5	4	3	34	4	3	3	3	4	3	3	4	4	31	65
RD 2 (PEL)	4	4	3	4	4	4	5	5	3	36	4	4	3	4	4	2	4	4	4	33	69
RD 1 (PEL)	3	4	4	4	4	4	5	5	4	37	4	3	3	4	4	3	4	3	5	33	70

Robyn Choi (-3) AFTER ROUND 4 - TOTAL SCORE: 277

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	3	4	3	5	4	4	4	4	4	35	5	5	2	3	5	3	4	4	3	34	69
RD 3 (PEL)	4	4	3	4	4	4	5	5	2	35	4	4	3	4	5	3	3	4	5	35	70
RD 2 (PEL)	4	4	2	4	4	4	5	4	2	33	4	3	4	3	4	3	4	4	5	34	67
RD 1 (PEL)	4	4	2	4	4	4	5	4	3	34	4	4	3	4	4	3	4	4	7	37	71

Carlota Ciganda (-3) AFTER ROUND 4 - TOTAL SCORE: 277

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	5	3	5	3	5	5	5	3	38	3	4	3	4	4	3	4	5	5	35	73
RD 3 (PEL)	4	5	2	4	3	4	5	4	3	34	4	4	4	5	5	3	3	4	4	36	70
RD 2 (PEL)	4	4	2	3	4	4	4	4	3	32	3	6	2	4	4	3	4	3	4	33	65
RD 1 (PEL)	4	5	3	4	5	3	5	3	3	35	5	3	3	4	5	3	4	4	3	34	69

Stephanie Kyriacou (-3) AFTER ROUND 4 - TOTAL SCORE: 277

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	3	5	2	4	5	4	4	4	2	33	4	3	3	3	5	3	5	5	3	34	67
RD 3 (PEL)	4	5	2	4	3	4	5	4	2	33	4	3	3	4	6	4	4	3	5	36	69
RD 2 (PEL)	3	4	3	4	4	4	5	4	3	34	5	4	4	4	5	2	4	4	4	36	70
RD 1 (PEL)	4	4	3	4	4	3	5	4	3	34	4	5	5	3	5	3	4	4	4	37	71

Caley McGinty (-3) AFTER ROUND 4 - TOTAL SCORE: 277

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	3	4	3	4	3	4	5	4	3	33	4	4	4	4	4	3	4	4	4	35	68
RD 3 (PEL)	4	4	3	4	4	4	4	4	3	34	5	3	4	4	4	3	3	4	4	34	68
RD 2 (PEL)	4	5	3	3	5	5	4	4	3	36	4	3	3	4	4	3	5	3	5	34	70
RD 1 (PEL)	4	5	3	5	4	4	5	4	3	37	5	4	3	4	4	3	3	4	4	34	71

Bianca Pagdanganan (-3) AFTER ROUND 4 - TOTAL SCORE: 277

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	4	2	4	3	3	5	6	4	35	4	4	3	4	4	2	4	4	5	34	69
RD 3 (PEL)	4	4	3	4	4	3	4	4	2	32	5	4	3	4	5	3	4	4	4	36	68
RD 2 (PEL)	3	4	3	5	4	4	4	4	3	34	4	4	5	4	5	3	4	4	4	37	71
RD 1 (PEL)	4	5	3	4	3	5	4	4	3	35	4	4	3	4	5	3	4	3	4	34	69

SCORECARD SUMMARY - By Leaderboard  
 2025 The ANNIKA driven by Gainbridge at Pelican  
 Pelican Golf Club

Sunday, November 16, 2025

Purse: \$3,250,000.00  
 Par: 35 35 - 70 Yardage: 6349

**Paula Reto (-3) AFTER ROUND 4 - TOTAL SCORE: 277**

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	3	4	3	4	4	3	6	6	3	36	4	4	3	4	5	2	5	5	4	36	72
RD 3 (PEL)	4	4	3	5	4	4	5	3	3	35	3	4	3	4	4	2	3	3	4	30	65
RD 2 (PEL)	4	4	3	4	5	4	4	4	3	35	4	4	3	4	4	3	5	4	4	35	70
RD 1 (PEL)	4	4	2	4	6	4	4	4	2	34	3	4	3	4	5	4	4	5	4	36	70

**Madelene Sagstrom (-3) AFTER ROUND 4 - TOTAL SCORE: 277**

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	4	3	4	4	4	5	5	3	36	4	5	2	4	5	2	4	4	4	34	70
RD 3 (PEL)	3	4	3	4	3	3	6	6	3	35	4	4	3	4	4	3	5	4	4	35	70
RD 2 (PEL)	3	4	2	5	4	5	5	4	2	34	4	3	2	4	5	4	3	5	5	35	69
RD 1 (PEL)	4	5	2	4	5	4	5	7	2	38	4	4	3	4	4	2	3	3	3	30	68

**Jasmine Suwannapura (-3) AFTER ROUND 4 - TOTAL SCORE: 277**

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	3	5	3	4	4	5	4	4	4	36	4	3	3	4	4	3	4	3	4	32	68
RD 3 (PEL)	4	4	2	4	4	3	5	4	3	33	4	4	3	5	4	2	4	4	6	36	69
RD 2 (PEL)	3	4	3	4	4	4	5	5	3	35	4	4	2	4	4	3	5	3	5	34	69
RD 1 (PEL)	5	5	3	4	4	4	4	5	4	38	4	4	3	4	4	3	3	4	4	33	71

**Amy Yang (-3) AFTER ROUND 4 - TOTAL SCORE: 277**

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	4	3	4	4	4	6	4	3	36	3	4	3	4	4	3	4	4	4	33	69
RD 3 (PEL)	4	6	3	4	3	4	4	4	3	35	5	3	3	4	3	3	3	4	4	32	67
RD 2 (PEL)	4	5	3	3	4	3	5	4	2	33	4	4	3	5	5	3	4	4	5	37	70
RD 1 (PEL)	5	3	2	4	4	4	4	4	4	34	4	4	3	4	7	3	4	3	5	37	71

**Yuri Yoshida (-3) AFTER ROUND 4 - TOTAL SCORE: 277**

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	3	3	3	5	4	4	4	5	2	33	4	3	3	4	5	6	3	4	4	36	69
RD 3 (PEL)	4	5	3	4	4	4	4	4	3	35	4	4	3	4	4	3	4	3	4	33	68
RD 2 (PEL)	3	4	3	3	4	3	5	4	3	32	5	4	3	4	4	3	4	5	4	36	68
RD 1 (PEL)	4	5	3	4	5	4	4	4	2	35	5	4	4	4	5	3	4	3	5	37	72

**Jenny Bae (-2) AFTER ROUND 4 - TOTAL SCORE: 278**

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	5	4	4	4	4	5	4	3	37	4	3	2	4	5	3	3	3	4	31	68
RD 3 (PEL)	4	5	3	4	4	4	5	3	3	35	4	4	3	4	4	4	4	4	3	34	69
RD 2 (PEL)	3	4	3	4	5	5	5	4	3	36	4	4	3	5	5	2	4	4	4	35	71
RD 1 (PEL)	3	4	3	4	4	4	5	4	3	34	4	4	2	4	5	3	4	5	5	36	70

SCORECARD SUMMARY - By Leaderboard  
 2025 The ANNIKA driven by Gainbridge at Pelican  
 Pelican Golf Club

Sunday, November 16, 2025

Purse: \$3,250,000.00  
 Par: 35 35 - 70 Yardage: 6349

Olivia Cowan (-2)

AFTER ROUND 4 - TOTAL SCORE: 278

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	3	4	3	4	4	4	5	4	3	34	3	5	3	5	4	3	3	4	5	35	69
RD 3 (PEL)	4	4	3	4	4	4	5	4	3	35	5	4	2	5	5	3	3	3	4	34	69
RD 2 (PEL)	4	5	3	5	5	4	4	5	2	37	4	3	2	4	5	3	4	4	6	35	72
RD 1 (PEL)	4	3	3	4	4	4	4	4	4	34	4	4	3	4	5	3	3	4	4	34	68

A Lim Kim (-2)

AFTER ROUND 4 - TOTAL SCORE: 278

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	3	4	4	5	4	4	4	4	3	35	5	4	3	3	5	3	4	4	4	35	70
RD 3 (PEL)	3	4	3	4	4	4	4	5	3	34	4	4	3	3	4	2	5	5	4	34	68
RD 2 (PEL)	3	5	3	4	3	4	4	4	3	33	4	4	3	4	6	3	4	5	4	37	70
RD 1 (PEL)	4	4	3	4	5	4	4	5	3	36	5	4	3	3	4	2	4	4	5	34	70

Bailey Tardy (-2)

AFTER ROUND 4 - TOTAL SCORE: 278

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	5	4	4	4	4	4	5	4	3	37	4	3	2	3	6	3	4	4	4	33	70
RD 3 (PEL)	4	4	3	4	4	4	6	4	3	36	4	3	3	3	4	2	4	4	5	32	68
RD 2 (PEL)	3	4	1	5	4	4	5	4	3	33	4	3	3	4	5	3	3	3	5	33	66
RD 1 (PEL)	5	5	4	4	5	5	4	4	3	39	5	4	3	3	5	3	4	3	5	35	74

Lauren Hartlage (-1)

AFTER ROUND 4 - TOTAL SCORE: 279

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	4	3	5	4	4	5	4	3	36	4	4	3	4	4	2	4	5	4	34	70
RD 3 (PEL)	4	4	3	4	4	4	5	4	2	34	5	4	3	4	6	3	3	4	4	36	70
RD 2 (PEL)	4	5	3	4	4	4	6	4	3	37	4	4	2	4	4	3	4	4	5	34	71
RD 1 (PEL)	3	3	3	4	5	3	6	3	3	33	5	3	3	4	5	3	4	3	5	35	68

Chisato Iwai (-1)

AFTER ROUND 4 - TOTAL SCORE: 279

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	4	3	4	5	4	4	5	3	36	4	4	2	4	4	3	4	3	4	32	68
RD 3 (PEL)	4	5	3	4	4	4	5	4	3	36	4	4	3	4	4	4	4	4	4	35	71
RD 2 (PEL)	4	3	3	4	5	4	4	5	3	35	4	4	3	5	6	2	4	3	5	36	71
RD 1 (PEL)	4	5	3	4	4	3	5	4	2	34	4	4	2	5	5	3	3	4	5	35	69

Leona Maguire (-1)

AFTER ROUND 4 - TOTAL SCORE: 279

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	5	3	4	4	4	5	4	3	36	4	4	2	4	5	4	4	4	3	34	70
RD 3 (PEL)	4	5	3	4	4	4	5	5	3	37	4	4	3	4	4	2	4	4	4	33	70
RD 2 (PEL)	4	4	3	4	5	4	6	4	3	37	4	4	3	4	5	3	4	4	4	35	72
RD 1 (PEL)	4	4	4	3	4	4	4	5	3	35	4	3	3	3	5	2	4	4	4	32	67

SCORECARD SUMMARY - By Leaderboard  
 2025 The ANNIKA driven by Gainbridge at Pelican  
 Pelican Golf Club

Sunday, November 16, 2025

Purse: \$3,250,000.00  
 Par: 35 35 - 70 Yardage: 6349

Jenny Shin (-1)

AFTER ROUND 4 - TOTAL SCORE: 279

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	4	3	4	4	4	4	5	2	34	3	4	3	4	5	4	4	3	5	35	69
RD 3 (PEL)	4	4	3	4	4	3	5	4	3	34	4	5	3	5	4	2	4	4	4	35	69
RD 2 (PEL)	3	4	3	4	5	4	5	4	3	35	5	4	4	4	5	3	4	4	4	37	72
RD 1 (PEL)	4	4	3	4	5	5	4	5	3	37	4	4	2	4	5	3	3	3	4	32	69

Pajaree Anannarukarn (E)

AFTER ROUND 4 - TOTAL SCORE: 280

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	7	3	5	4	3	5	5	3	39	3	4	2	3	6	3	4	3	4	32	71
RD 3 (PEL)	4	3	3	3	4	4	5	5	3	34	3	4	4	4	5	3	4	3	5	35	69
RD 2 (PEL)	4	4	3	4	3	4	4	4	3	33	4	5	3	4	5	3	3	4	6	37	70
RD 1 (PEL)	4	4	4	4	4	4	5	3	3	35	5	4	2	4	5	4	4	3	4	35	70

Celine Borge (E)

AFTER ROUND 4 - TOTAL SCORE: 280

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	3	7	3	4	3	4	5	4	2	35	4	4	3	4	5	4	3	3	5	35	70
RD 3 (PEL)	5	4	3	5	3	4	5	4	2	35	5	4	3	4	5	3	3	4	4	35	70
RD 2 (PEL)	4	4	2	4	4	4	4	3	3	32	4	4	2	5	4	3	4	3	4	33	65
RD 1 (PEL)	4	5	4	5	4	4	5	4	3	38	4	5	3	5	5	4	4	4	3	37	75

Anne-Sterre den Dunnen (a) \* (E)

AFTER ROUND 4 - TOTAL SCORE: 280

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	4	3	5	4	4	5	4	2	35	4	4	2	4	5	2	4	4	6	35	70
RD 3 (PEL)	5	5	3	5	4	3	5	5	3	38	4	4	2	3	4	3	4	4	4	32	70
RD 2 (PEL)	3	4	3	4	5	4	5	4	2	34	4	4	3	4	4	3	4	4	4	34	68
RD 1 (PEL)	4	3	4	5	6	4	5	4	2	37	4	4	4	4	4	3	4	3	5	35	72

Anna Nordqvist (E)

AFTER ROUND 4 - TOTAL SCORE: 280

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	3	5	4	4	4	2	5	5	3	35	4	4	3	4	6	3	3	5	4	36	71
RD 3 (PEL)	4	5	3	5	4	4	5	4	2	36	4	4	3	3	6	3	4	4	3	34	70
RD 2 (PEL)	3	4	3	4	4	3	4	3	2	30	4	4	3	4	5	3	4	3	5	35	65
RD 1 (PEL)	4	4	3	4	4	4	5	3	3	34	4	5	3	4	5	3	4	4	8	40	74

Cassie Porter (E)

AFTER ROUND 4 - TOTAL SCORE: 280

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	3	7	4	4	4	4	5	4	3	38	4	4	2	4	6	2	3	4	5	34	72
RD 3 (PEL)	3	5	3	4	5	3	4	4	3	34	5	4	3	4	5	2	4	4	5	36	70
RD 2 (PEL)	4	4	2	4	4	3	5	4	4	34	4	4	3	5	4	2	4	4	5	35	69
RD 1 (PEL)	3	4	2	3	4	4	4	4	3	31	5	4	3	4	5	3	4	5	5	38	69

SCORECARD SUMMARY - By Leaderboard  
 2025 The ANNIKA driven by Gainbridge at Pelican  
 Pelican Golf Club

Sunday, November 16, 2025

Purse: \$3,250,000.00  
 Par: 35 35 - 70 Yardage: 6349

Linnea Strom (E) AFTER ROUND 4 - TOTAL SCORE: 280

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	3	4	3	4	4	5	5	4	3	35	3	4	2	4	5	3	6	4	4	35	70
RD 3 (PEL)	4	6	2	3	5	3	5	4	3	35	4	5	3	4	4	2	4	4	4	34	69
RD 2 (PEL)	3	5	4	3	4	4	5	5	4	37	4	4	4	4	4	4	3	4	4	35	72
RD 1 (PEL)	3	4	4	3	4	3	5	4	3	33	5	5	2	4	4	4	4	4	4	36	69

Minami Katsu (+1) AFTER ROUND 4 - TOTAL SCORE: 281

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	7	2	4	4	4	5	4	3	37	3	3	3	4	5	2	4	4	5	33	70
RD 3 (PEL)	4	4	2	5	4	4	4	4	5	36	5	4	3	4	5	3	4	3	3	34	70
RD 2 (PEL)	4	4	2	4	4	4	5	4	4	35	3	4	3	5	5	3	3	4	4	34	69
RD 1 (PEL)	4	4	2	4	4	3	5	5	2	33	6	4	3	5	5	5	4	3	4	39	72

Mi Hyang Lee (+1) AFTER ROUND 4 - TOTAL SCORE: 281

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	4	3	5	3	3	5	4	3	34	4	4	2	4	4	4	4	4	4	34	68
RD 3 (PEL)	4	4	3	4	7	8	4	5	2	41	4	3	2	4	5	3	3	4	4	32	73
RD 2 (PEL)	4	5	2	5	4	3	4	4	2	33	5	4	3	4	4	3	5	4	6	38	71
RD 1 (PEL)	4	4	3	5	4	3	4	5	3	35	4	3	3	4	5	3	4	4	4	34	69

Sarah Schmelzel (+1) AFTER ROUND 4 - TOTAL SCORE: 281

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	3	4	3	4	5	4	5	5	3	36	5	3	4	5	4	3	4	3	5	36	72
RD 3 (PEL)	4	5	3	4	4	4	5	6	2	37	3	3	3	3	5	4	4	4	4	33	70
RD 2 (PEL)	4	4	2	4	4	4	6	5	3	36	4	4	3	3	4	2	4	4	3	31	67
RD 1 (PEL)	3	4	3	5	5	3	5	4	3	35	5	5	3	5	5	2	4	3	5	37	72

Kate Smith-Stroh (+2) AFTER ROUND 4 - TOTAL SCORE: 282

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	5	3	4	4	4	4	5	3	36	4	4	3	4	6	4	4	3	4	36	72
RD 3 (PEL)	4	5	3	4	3	4	5	4	2	34	5	4	4	4	4	4	4	3	5	37	71
RD 2 (PEL)	4	4	3	4	4	4	5	4	3	35	4	3	3	4	5	2	3	4	3	31	66
RD 1 (PEL)	3	4	3	3	4	4	4	5	3	33	5	5	3	4	5	4	4	5	5	40	73

Albane Valenzuela (+2) AFTER ROUND 4 - TOTAL SCORE: 282

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	4	4	5	5	4	5	5	3	39	4	5	3	4	5	3	4	4	4	36	75
RD 3 (PEL)	4	4	3	4	3	3	5	6	3	35	4	4	3	5	4	3	4	4	6	37	72
RD 2 (PEL)	4	4	3	3	4	4	5	5	3	35	4	3	2	4	4	4	4	3	4	32	67
RD 1 (PEL)	3	4	4	4	4	4	5	4	3	35	4	3	3	4	4	3	4	4	4	33	68

SCORECARD SUMMARY - By Leaderboard  
 2025 The ANNIKA driven by Gainbridge at Pelican  
 Pelican Golf Club

Sunday, November 16, 2025

Purse: \$3,250,000.00  
 Par: 35 35 - 70 Yardage: 6349

Ashleigh Buhai (+3)

AFTER ROUND 4 - TOTAL SCORE: 283

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	5	3	4	3	4	6	4	3	36	4	4	2	4	6	2	4	4	7	37	73
RD 3 (PEL)	3	4	4	4	4	5	4	4	4	36	5	3	3	4	5	2	3	4	4	33	69
RD 2 (PEL)	4	4	2	4	4	4	4	5	3	34	4	4	3	5	5	3	4	4	5	37	71
RD 1 (PEL)	4	3	2	4	5	5	5	3	3	34	4	4	3	5	5	3	3	4	5	36	70

Miyu Yamashita (+5)

AFTER ROUND 4 - TOTAL SCORE: 285

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	3	9	3	4	3	3	6	4	6	41	4	4	2	4	4	3	4	4	5	34	75
RD 3 (PEL)	4	4	3	4	5	4	4	4	2	34	4	4	3	5	5	3	4	3	5	36	70
RD 2 (PEL)	3	4	3	4	4	4	5	4	3	34	4	4	3	4	5	3	4	4	6	37	71
RD 1 (PEL)	3	5	3	4	5	4	4	4	2	34	5	5	2	4	4	3	4	3	5	35	69

Caroline Inglis (+12)

AFTER ROUND 4 - TOTAL SCORE: 292

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	3	4	4	4	5	4	3	35	4	4	3	4	5	3	4	4	4	35	70
RD 4 (PEL)	4	7	3	4	4	4	4	6	3	39	5	5	3	4	5	2	4	4	4	36	75
RD 3 (PEL)	5	4	3	4	5	5	4	5	5	40	4	4	2	5	4	3	5	4	5	36	76
RD 2 (PEL)	3	4	3	5	4	4	4	5	2	34	3	4	3	4	5	3	4	4	5	35	69
RD 1 (PEL)	4	4	3	4	3	5	5	4	3	35	5	3	3	4	5	3	4	5	5	37	72

PLAYER HOLE STATISTICS - By Leaderboard  
 2025 The ANNIKA driven by Gainbridge at Pelican  
 Pelican Golf Club

Sunday, November 16, 2025

Purse: \$3,250,000.00  
 Par: 35 35 - 70 Yardage: 6349

Linn Grant (-19)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	10 / 14 (0.714)	16 / 18 (0.889)	0 / 0 (0.000)	(265.0)	32	28 / 1.75	1	68	-2
2	PEL	10 / 14 (0.714)	17 / 18 (0.944)	0 / 0 (0.000)	(260.5)	28	27 / 1.59	1	63	-7
3	PEL	12 / 14 (0.857)	17 / 18 (0.944)	1 / 1 (1.000)	(302.5)	30	29 / 1.71	0	65	-5
4	PEL	12 / 14 (0.857)	14 / 18 (0.778)	1 / 1 (1.000)	(286.0)	27	23 / 1.64	1	65	-5
TOTAL:		44 / 56 (0.786)	64 / 72 (0.889)	2 / 2 (1.000)	(278.5)	117	107 / 1.67	3	261	-19

Jennifer Kupcho (-16)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	12 / 14 (0.857)	14 / 18 (0.778)	0 / 0 (0.000)	(268.5)	27	22 / 1.57	0	66	-4
2	PEL	10 / 14 (0.714)	14 / 18 (0.778)	2 / 2 (1.000)	(276.0)	27	21 / 1.50	0	66	-4
3	PEL	9 / 14 (0.643)	14 / 18 (0.778)	0 / 0 (0.000)	(296.0)	27	23 / 1.64	0	65	-5
4	PEL	10 / 14 (0.714)	15 / 18 (0.833)	0 / 0 (0.000)	(301.5)	30	27 / 1.80	2	67	-3
TOTAL:		41 / 56 (0.732)	57 / 72 (0.792)	2 / 2 (1.000)	(285.5)	111	93 / 1.63	2	264	-16

Gaby Lopez (-15)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	11 / 14 (0.786)	12 / 18 (0.667)	0 / 0 (0.000)	(265.5)	29	20 / 1.67	0	69	-1
2	PEL	13 / 14 (0.929)	15 / 18 (0.833)	0 / 0 (0.000)	(264.0)	27	24 / 1.60	1	64	-6
3	PEL	11 / 14 (0.786)	13 / 18 (0.722)	1 / 1 (1.000)	(287.0)	27	21 / 1.62	1	67	-3
4	PEL	12 / 14 (0.857)	14 / 18 (0.778)	0 / 0 (0.000)	(290.5)	27	22 / 1.57	0	65	-5
TOTAL:		47 / 56 (0.839)	54 / 72 (0.750)	1 / 1 (1.000)	(276.8)	110	87 / 1.61	2	265	-15

Charley Hull (-14)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	9 / 14 (0.643)	13 / 18 (0.722)	0 / 0 (0.000)	(260.5)	27	20 / 1.54	0	67	-3
2	PEL	10 / 14 (0.714)	12 / 18 (0.667)	2 / 3 (0.667)	(275.5)	27	21 / 1.75	1	68	-2
3	PEL	12 / 14 (0.857)	15 / 18 (0.833)	0 / 0 (0.000)	(283.5)	32	28 / 1.87	0	68	-2
4	PEL	13 / 14 (0.929)	14 / 18 (0.778)	0 / 1 (0.000)	(294.5)	25	21 / 1.50	0	63	-7
TOTAL:		44 / 56 (0.786)	54 / 72 (0.750)	2 / 4 (0.500)	(278.5)	111	90 / 1.67	1	266	-14

Auston Kim (-14)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	8 / 14 (0.571)	12 / 18 (0.667)	0 / 0 (0.000)	(265.0)	29	23 / 1.92	2	69	-1
2	PEL	14 / 14 (1.000)	16 / 18 (0.889)	1 / 1 (1.000)	(274.5)	30	28 / 1.75	0	65	-5
3	PEL	8 / 14 (0.571)	13 / 18 (0.722)	0 / 0 (0.000)	(291.0)	28	22 / 1.69	0	69	-1
4	PEL	10 / 14 (0.714)	16 / 18 (0.889)	0 / 0 (0.000)	(306.0)	28	25 / 1.56	1	63	-7
TOTAL:		40 / 56 (0.714)	57 / 72 (0.792)	1 / 1 (1.000)	(284.1)	115	98 / 1.72	3	266	-14

Lucy Li (-14)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	11 / 14 (0.786)	12 / 18 (0.667)	0 / 0 (0.000)	(254.0)	29	20 / 1.67	0	70	E
2	PEL	13 / 14 (0.929)	14 / 18 (0.778)	2 / 2 (1.000)	(256.0)	27	20 / 1.43	0	65	-5
3	PEL	14 / 14 (1.000)	17 / 18 (0.944)	1 / 1 (1.000)	(298.0)	30	29 / 1.71	0	65	-5
4	PEL	13 / 14 (0.929)	14 / 18 (0.778)	0 / 0 (0.000)	(286.0)	27	23 / 1.64	1	66	-4
TOTAL:		51 / 56 (0.911)	57 / 72 (0.792)	3 / 3 (1.000)	(273.5)	113	92 / 1.61	1	266	-14

PLAYER HOLE STATISTICS - By Leaderboard  
 2025 The ANNIKA driven by Gainbridge at Pelican  
 Pelican Golf Club

Sunday, November 16, 2025

Purse: \$3,250,000.00  
 Par: 35 35 - 70 Yardage: 6349

**Haeran Ryu (-13)**

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	14 / 14 (1.000)	15 / 18 (0.833)	0 / 0 (0.000)	(258.5)	28	25 / 1.67	1	64	-6
2	PEL	13 / 14 (0.929)	13 / 18 (0.722)	0 / 1 (0.000)	(270.5)	30	23 / 1.77	0	68	-2
3	PEL	12 / 14 (0.857)	15 / 18 (0.833)	0 / 0 (0.000)	(307.5)	29	24 / 1.60	1	68	-2
4	PEL	12 / 14 (0.857)	16 / 18 (0.889)	0 / 0 (0.000)	(292.5)	31	29 / 1.81	2	67	-3
TOTAL:		51 / 56 (0.911)	59 / 72 (0.819)	0 / 1 (0.000)	(282.3)	118	101 / 1.71	4	267	-13

**Nataliya Guseva (-13)**

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	9 / 14 (0.643)	13 / 18 (0.722)	1 / 1 (1.000)	(256.5)	30	24 / 1.85	1	69	-1
2	PEL	12 / 14 (0.857)	13 / 18 (0.722)	0 / 0 (0.000)	(256.5)	29	23 / 1.77	0	67	-3
3	PEL	13 / 14 (0.929)	14 / 18 (0.778)	1 / 1 (1.000)	(289.5)	25	21 / 1.50	0	63	-7
4	PEL	8 / 14 (0.571)	15 / 18 (0.833)	1 / 1 (1.000)	(283.0)	31	27 / 1.80	0	68	-2
TOTAL:		42 / 56 (0.750)	55 / 72 (0.764)	3 / 3 (1.000)	(271.4)	115	95 / 1.73	1	267	-13

**Brooke Matthews (-12)**

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	13 / 14 (0.929)	13 / 18 (0.722)	1 / 1 (1.000)	(259.5)	28	21 / 1.62	0	70	E
2	PEL	10 / 14 (0.714)	14 / 18 (0.778)	0 / 1 (0.000)	(271.0)	31	24 / 1.71	0	69	-1
3	PEL	10 / 14 (0.714)	16 / 18 (0.889)	0 / 0 (0.000)	(284.0)	28	23 / 1.44	3	64	-6
4	PEL	8 / 14 (0.571)	14 / 18 (0.778)	0 / 0 (0.000)	(294.5)	27	21 / 1.50	0	65	-5
TOTAL:		41 / 56 (0.732)	57 / 72 (0.792)	1 / 2 (0.500)	(277.3)	114	89 / 1.56	3	268	-12

**Grace Kim (-12)**

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	14 / 14 (1.000)	14 / 18 (0.778)	1 / 1 (1.000)	(254.5)	27	22 / 1.57	0	65	-5
2	PEL	12 / 14 (0.857)	14 / 18 (0.778)	0 / 0 (0.000)	(248.5)	28	23 / 1.64	0	66	-4
3	PEL	12 / 14 (0.857)	14 / 18 (0.778)	0 / 0 (0.000)	(287.0)	30	24 / 1.71	1	68	-2
4	PEL	14 / 14 (1.000)	15 / 18 (0.833)	0 / 0 (0.000)	(289.5)	32	28 / 1.87	1	69	-1
TOTAL:		52 / 56 (0.929)	57 / 72 (0.792)	1 / 1 (1.000)	(269.9)	117	97 / 1.70	2	268	-12

**Pauline Roussin-Bouchard (-11)**

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	9 / 14 (0.643)	14 / 18 (0.778)	0 / 0 (0.000)	(260.0)	31	26 / 1.86	1	69	-1
2	PEL	13 / 14 (0.929)	13 / 18 (0.722)	0 / 1 (0.000)	(264.5)	32	24 / 1.85	1	71	+1
3	PEL	11 / 14 (0.786)	15 / 18 (0.833)	0 / 0 (0.000)	(300.0)	29	24 / 1.60	0	65	-5
4	PEL	12 / 14 (0.857)	13 / 18 (0.722)	3 / 3 (1.000)	(289.0)	25	19 / 1.46	0	64	-6
TOTAL:		45 / 56 (0.804)	55 / 72 (0.764)	3 / 4 (0.750)	(278.4)	117	93 / 1.69	2	269	-11

**Mao Saigo (-11)**

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	12 / 14 (0.857)	14 / 18 (0.778)	0 / 0 (0.000)	(257.0)	29	22 / 1.57	0	67	-3
2	PEL	10 / 14 (0.714)	13 / 18 (0.722)	0 / 0 (0.000)	(271.0)	28	23 / 1.77	1	70	E
3	PEL	14 / 14 (1.000)	14 / 18 (0.778)	0 / 0 (0.000)	(290.5)	29	24 / 1.71	2	67	-3
4	PEL	12 / 14 (0.857)	16 / 18 (0.889)	0 / 0 (0.000)	(278.0)	28	25 / 1.56	0	65	-5
TOTAL:		48 / 56 (0.857)	57 / 72 (0.792)	0 / 0 (0.000)	(274.1)	114	94 / 1.65	3	269	-11

PLAYER HOLE STATISTICS - By Leaderboard  
 2025 The ANNIKA driven by Gainbridge at Pelican  
 Pelican Golf Club

Sunday, November 16, 2025

Purse: \$3,250,000.00  
 Par: 35 35 - 70 Yardage: 6349

Lindy Duncan (-10)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	12 / 14 (0.857)	11 / 18 (0.611)	0 / 0 (0.000)	(245.0)	31	20 / 1.82	1	72	+2
2	PEL	9 / 14 (0.643)	13 / 18 (0.722)	0 / 0 (0.000)	(261.0)	28	23 / 1.77	0	67	-3
3	PEL	13 / 14 (0.929)	16 / 18 (0.889)	0 / 0 (0.000)	(287.0)	32	29 / 1.81	1	67	-3
4	PEL	12 / 14 (0.857)	16 / 18 (0.889)	0 / 0 (0.000)	(278.0)	27	25 / 1.56	0	64	-6
TOTAL:		46 / 56 (0.821)	56 / 72 (0.778)	0 / 0 (0.000)	(267.8)	118	97 / 1.73	2	270	-10

Karis Anne Davidson (-10)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	12 / 14 (0.857)	9 / 18 (0.500)	0 / 1 (0.000)	(243.5)	29	16 / 1.78	2	73	+3
2	PEL	9 / 14 (0.643)	15 / 18 (0.833)	0 / 0 (0.000)	(255.5)	26	22 / 1.47	0	63	-7
3	PEL	12 / 14 (0.857)	13 / 18 (0.722)	0 / 0 (0.000)	(284.5)	29	22 / 1.69	0	68	-2
4	PEL	13 / 14 (0.929)	14 / 18 (0.778)	0 / 1 (0.000)	(292.0)	28	22 / 1.57	0	66	-4
TOTAL:		46 / 56 (0.821)	51 / 72 (0.708)	0 / 2 (0.000)	(268.9)	112	82 / 1.61	2	270	-10

Celine Boutier (-9)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	9 / 14 (0.643)	11 / 18 (0.611)	1 / 1 (1.000)	(236.5)	29	19 / 1.73	0	71	+1
2	PEL	11 / 14 (0.786)	15 / 18 (0.833)	0 / 0 (0.000)	(249.5)	29	26 / 1.73	0	66	-4
3	PEL	11 / 14 (0.786)	16 / 18 (0.889)	0 / 0 (0.000)	(264.0)	32	29 / 1.81	1	69	-1
4	PEL	13 / 14 (0.929)	15 / 18 (0.833)	0 / 0 (0.000)	(272.0)	28	24 / 1.60	0	65	-5
TOTAL:		44 / 56 (0.786)	57 / 72 (0.792)	1 / 1 (1.000)	(255.5)	118	98 / 1.72	1	271	-9

Rio Takeda (-9)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	12 / 14 (0.857)	14 / 18 (0.778)	0 / 0 (0.000)	(256.5)	30	26 / 1.86	0	69	-1
2	PEL	7 / 14 (0.500)	14 / 18 (0.778)	0 / 0 (0.000)	(250.5)	30	24 / 1.71	1	68	-2
3	PEL	12 / 14 (0.857)	13 / 18 (0.722)	0 / 0 (0.000)	(284.5)	28	22 / 1.69	0	69	-1
4	PEL	11 / 14 (0.786)	16 / 18 (0.889)	1 / 1 (1.000)	(282.0)	30	27 / 1.69	1	65	-5
TOTAL:		42 / 56 (0.750)	57 / 72 (0.792)	1 / 1 (1.000)	(268.4)	118	99 / 1.74	2	271	-9

Nanna Koerstz Madsen (-9)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	10 / 14 (0.714)	9 / 18 (0.500)	0 / 2 (0.000)	(272.5)	28	17 / 1.89	0	71	+1
2	PEL	10 / 14 (0.714)	15 / 18 (0.833)	0 / 0 (0.000)	(257.5)	32	27 / 1.80	1	68	-2
3	PEL	12 / 14 (0.857)	16 / 18 (0.889)	0 / 1 (0.000)	(290.5)	29	26 / 1.63	0	65	-5
4	PEL	10 / 14 (0.714)	14 / 18 (0.778)	1 / 1 (1.000)	(299.0)	30	24 / 1.71	0	67	-3
TOTAL:		42 / 56 (0.750)	54 / 72 (0.750)	1 / 4 (0.250)	(279.9)	119	94 / 1.74	1	271	-9

Hannah Green (-9)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	10 / 14 (0.714)	14 / 18 (0.778)	0 / 1 (0.000)	(248.5)	31	25 / 1.79	0	70	E
2	PEL	11 / 14 (0.786)	14 / 18 (0.778)	0 / 0 (0.000)	(262.0)	27	22 / 1.57	0	66	-4
3	PEL	11 / 14 (0.786)	16 / 18 (0.889)	0 / 0 (0.000)	(280.5)	32	28 / 1.75	1	68	-2
4	PEL	9 / 14 (0.643)	12 / 18 (0.667)	1 / 1 (1.000)	(280.5)	27	20 / 1.67	0	67	-3
TOTAL:		41 / 56 (0.732)	56 / 72 (0.778)	1 / 2 (0.500)	(267.9)	117	95 / 1.70	1	271	-9

PLAYER HOLE STATISTICS - By Leaderboard  
 2025 The ANNIKA driven by Gainbridge at Pelican  
 Pelican Golf Club

Sunday, November 16, 2025

Purse: \$3,250,000.00  
 Par: 35 35 - 70 Yardage: 6349

Esther Henseleit (-9)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	9 / 14 (0.643)	15 / 18 (0.833)	0 / 1 (0.000)	(250.0)	31	28 / 1.87	1	69	-1
2	PEL	9 / 14 (0.643)	14 / 18 (0.778)	0 / 0 (0.000)	(264.0)	28	24 / 1.71	0	66	-4
3	PEL	11 / 14 (0.786)	16 / 18 (0.889)	0 / 1 (0.000)	(286.0)	30	27 / 1.69	0	67	-3
4	PEL	12 / 14 (0.857)	13 / 18 (0.722)	0 / 0 (0.000)	(286.0)	29	23 / 1.77	0	69	-1
TOTAL:		41 / 56 (0.732)	58 / 72 (0.806)	0 / 2 (0.000)	(271.5)	118	102 / 1.76	1	271	-9

Nelly Korda (-9)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	11 / 14 (0.786)	12 / 18 (0.667)	0 / 0 (0.000)	(266.5)	31	25 / 2.08	1	71	+1
2	PEL	14 / 14 (1.000)	17 / 18 (0.944)	0 / 0 (0.000)	(272.5)	29	28 / 1.65	0	63	-7
3	PEL	10 / 14 (0.714)	15 / 18 (0.833)	0 / 0 (0.000)	(302.5)	30	27 / 1.80	1	68	-2
4	PEL	12 / 14 (0.857)	15 / 18 (0.833)	0 / 0 (0.000)	(306.5)	32	27 / 1.80	0	69	-1
TOTAL:		47 / 56 (0.839)	59 / 72 (0.819)	0 / 0 (0.000)	(287.0)	122	107 / 1.81	2	271	-9

Ina Yoon (-8)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	12 / 14 (0.857)	12 / 18 (0.667)	0 / 0 (0.000)	(257.5)	29	22 / 1.83	1	69	-1
2	PEL	11 / 14 (0.786)	14 / 18 (0.778)	0 / 0 (0.000)	(266.0)	30	25 / 1.79	0	68	-2
3	PEL	11 / 14 (0.786)	12 / 18 (0.667)	0 / 0 (0.000)	(294.5)	31	23 / 1.92	0	70	E
4	PEL	12 / 14 (0.857)	15 / 18 (0.833)	1 / 1 (1.000)	(286.5)	28	25 / 1.67	0	65	-5
TOTAL:		46 / 56 (0.821)	53 / 72 (0.736)	1 / 1 (1.000)	(276.1)	118	95 / 1.79	1	272	-8

Gurleen Kaur (-8)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	14 / 14 (1.000)	11 / 18 (0.611)	0 / 0 (0.000)	(247.0)	28	19 / 1.73	1	70	E
2	PEL	10 / 14 (0.714)	12 / 18 (0.667)	0 / 1 (0.000)	(235.5)	24	19 / 1.58	0	66	-4
3	PEL	10 / 14 (0.714)	12 / 18 (0.667)	1 / 1 (1.000)	(272.0)	29	21 / 1.75	0	71	+1
4	PEL	13 / 14 (0.929)	15 / 18 (0.833)	0 / 0 (0.000)	(278.0)	27	23 / 1.53	0	65	-5
TOTAL:		47 / 56 (0.839)	50 / 72 (0.694)	1 / 2 (0.500)	(258.1)	108	82 / 1.64	1	272	-8

Rose Zhang (-8)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	12 / 14 (0.857)	12 / 18 (0.667)	0 / 0 (0.000)	(251.5)	27	20 / 1.67	0	68	-2
2	PEL	10 / 14 (0.714)	16 / 18 (0.889)	0 / 0 (0.000)	(258.5)	31	29 / 1.81	2	67	-3
3	PEL	12 / 14 (0.857)	14 / 18 (0.778)	0 / 0 (0.000)	(292.5)	31	24 / 1.71	0	71	+1
4	PEL	11 / 14 (0.786)	14 / 18 (0.778)	0 / 0 (0.000)	(259.5)	28	24 / 1.71	0	66	-4
TOTAL:		45 / 56 (0.804)	56 / 72 (0.778)	0 / 0 (0.000)	(265.5)	117	97 / 1.73	2	272	-8

Yuna Nishimura (-8)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	10 / 14 (0.714)	10 / 18 (0.556)	2 / 2 (1.000)	(224.0)	28	17 / 1.70	1	72	+2
2	PEL	14 / 14 (1.000)	15 / 18 (0.833)	0 / 1 (0.000)	(234.0)	28	24 / 1.60	1	64	-6
3	PEL	14 / 14 (1.000)	16 / 18 (0.889)	0 / 0 (0.000)	(255.0)	31	27 / 1.69	1	67	-3
4	PEL	13 / 14 (0.929)	11 / 18 (0.611)	0 / 0 (0.000)	(251.0)	26	19 / 1.73	0	69	-1
TOTAL:		51 / 56 (0.911)	52 / 72 (0.722)	2 / 3 (0.667)	(241.0)	113	87 / 1.67	3	272	-8

PLAYER HOLE STATISTICS - By Leaderboard  
 2025 The ANNIKA driven by Gainbridge at Pelican  
 Pelican Golf Club

Sunday, November 16, 2025

Purse: \$3,250,000.00  
 Par: 35 35 - 70 Yardage: 6349

**Lauren Coughlin (-8)**

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	13 / 14 (0.929)	12 / 18 (0.667)	0 / 0 (0.000)	(254.0)	28	22 / 1.83	0	68	-2
2	PEL	13 / 14 (0.929)	17 / 18 (0.944)	0 / 0 (0.000)	(241.5)	31	30 / 1.76	0	66	-4
3	PEL	13 / 14 (0.929)	13 / 18 (0.722)	0 / 0 (0.000)	(280.0)	29	23 / 1.77	0	69	-1
4	PEL	14 / 14 (1.000)	17 / 18 (0.944)	0 / 0 (0.000)	(263.5)	34	32 / 1.88	2	69	-1
TOTAL:		53 / 56 (0.946)	59 / 72 (0.819)	0 / 0 (0.000)	(259.8)	122	107 / 1.81	2	272	-8

**Brianna Do (-7)**

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	13 / 14 (0.929)	12 / 18 (0.667)	0 / 0 (0.000)	(244.0)	28	22 / 1.83	0	69	-1
2	PEL	12 / 14 (0.857)	10 / 18 (0.556)	0 / 0 (0.000)	(249.0)	30	20 / 2.00	1	72	+2
3	PEL	12 / 14 (0.857)	13 / 18 (0.722)	0 / 0 (0.000)	(274.0)	27	20 / 1.54	1	67	-3
4	PEL	9 / 14 (0.643)	14 / 18 (0.778)	1 / 1 (1.000)	(265.5)	27	23 / 1.64	0	65	-5
TOTAL:		46 / 56 (0.821)	49 / 72 (0.681)	1 / 1 (1.000)	(258.1)	112	85 / 1.73	2	273	-7

**In Gee Chun (-7)**

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	11 / 14 (0.786)	11 / 18 (0.611)	1 / 1 (1.000)	(259.0)	29	20 / 1.82	2	70	E
2	PEL	8 / 14 (0.571)	12 / 18 (0.667)	0 / 0 (0.000)	(247.5)	29	21 / 1.75	2	70	E
3	PEL	14 / 14 (1.000)	14 / 18 (0.778)	0 / 0 (0.000)	(275.0)	27	22 / 1.57	0	64	-6
4	PEL	9 / 14 (0.643)	14 / 18 (0.778)	0 / 1 (0.000)	(281.5)	29	24 / 1.71	1	69	-1
TOTAL:		42 / 56 (0.750)	51 / 72 (0.708)	1 / 2 (0.500)	(265.8)	114	87 / 1.71	5	273	-7

**Brooke M. Henderson (-7)**

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	11 / 14 (0.786)	12 / 18 (0.667)	0 / 0 (0.000)	(255.0)	29	21 / 1.75	1	70	E
2	PEL	11 / 14 (0.786)	14 / 18 (0.778)	0 / 0 (0.000)	(267.5)	28	22 / 1.57	0	66	-4
3	PEL	12 / 14 (0.857)	12 / 18 (0.667)	1 / 1 (1.000)	(297.0)	28	21 / 1.75	1	68	-2
4	PEL	14 / 14 (1.000)	13 / 18 (0.722)	1 / 1 (1.000)	(296.0)	29	22 / 1.69	0	69	-1
TOTAL:		48 / 56 (0.857)	51 / 72 (0.708)	2 / 2 (1.000)	(278.9)	114	86 / 1.69	2	273	-7

**Julia Lopez Ramirez (-6)**

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	10 / 14 (0.714)	12 / 18 (0.667)	0 / 0 (0.000)	(280.5)	33	25 / 2.08	1	73	+3
2	PEL	11 / 14 (0.786)	15 / 18 (0.833)	0 / 2 (0.000)	(288.0)	29	25 / 1.67	0	67	-3
3	PEL	9 / 14 (0.643)	13 / 18 (0.722)	1 / 1 (1.000)	(303.0)	28	22 / 1.69	0	67	-3
4	PEL	9 / 14 (0.643)	14 / 18 (0.778)	0 / 0 (0.000)	(308.5)	29	24 / 1.71	1	67	-3
TOTAL:		39 / 56 (0.696)	54 / 72 (0.750)	1 / 3 (0.333)	(295.0)	119	96 / 1.78	2	274	-6

**Somi Lee (-6)**

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	13 / 14 (0.929)	11 / 18 (0.611)	0 / 0 (0.000)	(258.5)	25	19 / 1.73	0	67	-3
2	PEL	12 / 14 (0.857)	11 / 18 (0.611)	0 / 0 (0.000)	(252.0)	30	20 / 1.82	1	73	+3
3	PEL	12 / 14 (0.857)	12 / 18 (0.667)	0 / 3 (0.000)	(274.5)	28	18 / 1.50	0	67	-3
4	PEL	12 / 14 (0.857)	13 / 18 (0.722)	1 / 1 (1.000)	(278.5)	28	21 / 1.62	0	67	-3
TOTAL:		49 / 56 (0.875)	47 / 72 (0.653)	1 / 4 (0.250)	(265.9)	111	78 / 1.66	1	274	-6

PLAYER HOLE STATISTICS - By Leaderboard  
 2025 The ANNIKA driven by Gainbridge at Pelican  
 Pelican Golf Club

Sunday, November 16, 2025

Purse: \$3,250,000.00  
 Par: 35 35 - 70 Yardage: 6349

**Hye-Jin Choi (-6)**

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	12 / 14 (0.857)	12 / 18 (0.667)	0 / 0 (0.000)	(258.5)	29	21 / 1.75	0	69	-1
2	PEL	11 / 14 (0.786)	11 / 18 (0.611)	1 / 1 (1.000)	(248.0)	26	15 / 1.36	1	68	-2
3	PEL	12 / 14 (0.857)	13 / 18 (0.722)	1 / 1 (1.000)	(291.0)	28	22 / 1.69	0	70	E
4	PEL	10 / 14 (0.714)	13 / 18 (0.722)	0 / 0 (0.000)	(289.0)	28	20 / 1.54	0	67	-3
TOTAL:		45 / 56 (0.804)	49 / 72 (0.681)	2 / 2 (1.000)	(271.6)	111	78 / 1.59	1	274	-6

**Gabriela Ruffels (-6)**

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	10 / 14 (0.714)	10 / 18 (0.556)	0 / 1 (0.000)	(233.5)	27	17 / 1.70	1	69	-1
2	PEL	13 / 14 (0.929)	15 / 18 (0.833)	0 / 1 (0.000)	(250.0)	31	27 / 1.80	0	68	-2
3	PEL	12 / 14 (0.857)	14 / 18 (0.778)	0 / 1 (0.000)	(283.0)	31	26 / 1.86	2	69	-1
4	PEL	11 / 14 (0.786)	14 / 18 (0.778)	1 / 1 (1.000)	(275.5)	30	24 / 1.71	0	68	-2
TOTAL:		46 / 56 (0.821)	53 / 72 (0.736)	1 / 4 (0.250)	(260.5)	119	94 / 1.77	3	274	-6

**Kristen Gillman (-5)**

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	11 / 14 (0.786)	10 / 18 (0.556)	0 / 0 (0.000)	(235.5)	27	16 / 1.60	0	69	-1
2	PEL	12 / 14 (0.857)	12 / 18 (0.667)	0 / 0 (0.000)	(230.5)	30	23 / 1.92	0	70	E
3	PEL	13 / 14 (0.929)	14 / 18 (0.778)	0 / 0 (0.000)	(269.0)	32	25 / 1.79	1	70	E
4	PEL	13 / 14 (0.929)	12 / 18 (0.667)	0 / 0 (0.000)	(278.5)	26	20 / 1.67	0	66	-4
TOTAL:		49 / 56 (0.875)	48 / 72 (0.667)	0 / 0 (0.000)	(253.4)	115	84 / 1.75	1	275	-5

**Patty Tavatanakit (-5)**

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	9 / 14 (0.643)	14 / 18 (0.778)	0 / 1 (0.000)	(265.5)	32	27 / 1.93	1	70	E
2	PEL	10 / 14 (0.714)	13 / 18 (0.722)	0 / 1 (0.000)	(257.5)	27	22 / 1.69	1	67	-3
3	PEL	12 / 14 (0.857)	12 / 18 (0.667)	0 / 0 (0.000)	(292.0)	30	23 / 1.92	1	71	+1
4	PEL	9 / 14 (0.643)	11 / 18 (0.611)	0 / 0 (0.000)	(282.5)	27	18 / 1.64	1	67	-3
TOTAL:		40 / 56 (0.714)	50 / 72 (0.694)	0 / 2 (0.000)	(274.4)	116	90 / 1.80	4	275	-5

**Allisen Corpuz (-5)**

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	11 / 14 (0.786)	12 / 18 (0.667)	0 / 1 (0.000)	(238.0)	28	19 / 1.58	0	68	-2
2	PEL	13 / 14 (0.929)	13 / 18 (0.722)	0 / 0 (0.000)	(248.5)	30	24 / 1.85	1	69	-1
3	PEL	13 / 14 (0.929)	14 / 18 (0.778)	0 / 0 (0.000)	(280.0)	32	27 / 1.93	2	70	E
4	PEL	14 / 14 (1.000)	12 / 18 (0.667)	1 / 1 (1.000)	(277.0)	28	21 / 1.75	0	68	-2
TOTAL:		51 / 56 (0.911)	51 / 72 (0.708)	1 / 2 (0.500)	(260.9)	118	91 / 1.78	3	275	-5

**Manon De Roey (-4)**

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	12 / 14 (0.857)	9 / 18 (0.500)	1 / 1 (1.000)	(257.5)	28	15 / 1.67	0	71	+1
2	PEL	13 / 14 (0.929)	13 / 18 (0.722)	0 / 0 (0.000)	(256.5)	29	21 / 1.62	0	68	-2
3	PEL	10 / 14 (0.714)	13 / 18 (0.722)	0 / 1 (0.000)	(284.0)	29	24 / 1.85	0	70	E
4	PEL	10 / 14 (0.714)	13 / 18 (0.722)	0 / 1 (0.000)	(279.5)	28	22 / 1.69	0	67	-3
TOTAL:		45 / 56 (0.804)	48 / 72 (0.667)	1 / 3 (0.333)	(269.4)	114	82 / 1.71	0	276	-4

PLAYER HOLE STATISTICS - By Leaderboard  
 2025 The ANNIKA driven by Gainbridge at Pelican  
 Pelican Golf Club

Sunday, November 16, 2025

Purse: \$3,250,000.00  
 Par: 35 35 - 70 Yardage: 6349

Alexa Pano (-4)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	12 / 14 (0.857)	14 / 18 (0.778)	0 / 0 (0.000)	(265.0)	32	25 / 1.79	1	70	E
2	PEL	11 / 14 (0.786)	14 / 18 (0.778)	1 / 1 (1.000)	(258.5)	31	26 / 1.86	0	69	-1
3	PEL	12 / 14 (0.857)	13 / 18 (0.722)	1 / 1 (1.000)	(291.5)	26	21 / 1.62	1	65	-5
4	PEL	12 / 14 (0.857)	13 / 18 (0.722)	1 / 3 (0.333)	(282.0)	33	26 / 2.00	0	72	+2
TOTAL:		47 / 56 (0.839)	54 / 72 (0.750)	3 / 5 (0.600)	(274.3)	122	98 / 1.81	2	276	-4

Stephanie Kyriacou (-3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	8 / 14 (0.571)	11 / 18 (0.611)	0 / 0 (0.000)	(252.5)	27	20 / 1.82	0	71	+1
2	PEL	13 / 14 (0.929)	14 / 18 (0.778)	0 / 0 (0.000)	(256.5)	31	26 / 1.86	0	70	E
3	PEL	10 / 14 (0.714)	13 / 18 (0.722)	0 / 1 (0.000)	(298.0)	30	22 / 1.69	1	69	-1
4	PEL	12 / 14 (0.857)	12 / 18 (0.667)	0 / 0 (0.000)	(279.5)	27	17 / 1.42	0	67	-3
TOTAL:		43 / 56 (0.768)	50 / 72 (0.694)	0 / 1 (0.000)	(271.6)	115	85 / 1.70	1	277	-3

Caley McGinty (-3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	12 / 14 (0.857)	13 / 18 (0.722)	0 / 0 (0.000)	(252.0)	32	25 / 1.92	1	71	+1
2	PEL	11 / 14 (0.786)	10 / 18 (0.556)	1 / 1 (1.000)	(257.0)	28	16 / 1.60	1	70	E
3	PEL	9 / 14 (0.643)	11 / 18 (0.611)	0 / 0 (0.000)	(291.0)	26	20 / 1.82	1	68	-2
4	PEL	13 / 14 (0.929)	13 / 18 (0.722)	1 / 1 (1.000)	(283.0)	31	25 / 1.92	1	68	-2
TOTAL:		45 / 56 (0.804)	47 / 72 (0.653)	2 / 2 (1.000)	(270.8)	117	86 / 1.83	4	277	-3

Jasmine Suwannapura (-3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	14 / 14 (1.000)	10 / 18 (0.556)	0 / 2 (0.000)	(242.0)	29	17 / 1.70	0	71	+1
2	PEL	9 / 14 (0.643)	9 / 18 (0.500)	0 / 0 (0.000)	(234.5)	26	14 / 1.56	0	69	-1
3	PEL	14 / 14 (1.000)	11 / 18 (0.611)	0 / 0 (0.000)	(260.0)	27	18 / 1.64	0	69	-1
4	PEL	10 / 14 (0.714)	13 / 18 (0.722)	1 / 1 (1.000)	(261.5)	29	24 / 1.85	2	68	-2
TOTAL:		47 / 56 (0.839)	43 / 72 (0.597)	1 / 3 (0.333)	(249.5)	111	73 / 1.70	2	277	-3

Amy Yang (-3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	12 / 14 (0.857)	12 / 18 (0.667)	0 / 0 (0.000)	(249.5)	30	21 / 1.75	1	71	+1
2	PEL	12 / 14 (0.857)	11 / 18 (0.611)	0 / 0 (0.000)	(244.5)	27	19 / 1.73	0	70	E
3	PEL	9 / 14 (0.643)	12 / 18 (0.667)	1 / 1 (1.000)	(272.5)	26	18 / 1.50	0	67	-3
4	PEL	12 / 14 (0.857)	12 / 18 (0.667)	0 / 1 (0.000)	(283.5)	29	22 / 1.83	0	69	-1
TOTAL:		45 / 56 (0.804)	47 / 72 (0.653)	1 / 2 (0.500)	(262.5)	112	80 / 1.70	1	277	-3

Yuri Yoshida (-3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	12 / 14 (0.857)	9 / 18 (0.500)	1 / 1 (1.000)	(235.5)	28	16 / 1.78	1	72	+2
2	PEL	11 / 14 (0.786)	13 / 18 (0.722)	0 / 0 (0.000)	(236.0)	28	23 / 1.77	1	68	-2
3	PEL	13 / 14 (0.929)	16 / 18 (0.889)	0 / 0 (0.000)	(268.0)	32	29 / 1.81	0	68	-2
4	PEL	13 / 14 (0.929)	14 / 18 (0.778)	0 / 0 (0.000)	(269.0)	28	22 / 1.57	0	69	-1
TOTAL:		49 / 56 (0.875)	52 / 72 (0.722)	1 / 1 (1.000)	(252.1)	116	90 / 1.73	2	277	-3

PLAYER HOLE STATISTICS - By Leaderboard  
 2025 The ANNIKA driven by Gainbridge at Pelican  
 Pelican Golf Club

Sunday, November 16, 2025

Purse: \$3,250,000.00  
 Par: 35 35 - 70 Yardage: 6349

**Bianca Pagdanganan (-3)**

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	8 / 14 (0.571)	12 / 18 (0.667)	1 / 1 (1.000)	(277.5)	28	21 / 1.75	0	69	-1
2	PEL	10 / 14 (0.714)	12 / 18 (0.667)	0 / 0 (0.000)	(262.0)	30	22 / 1.83	0	71	+1
3	PEL	11 / 14 (0.786)	14 / 18 (0.778)	0 / 0 (0.000)	(299.0)	30	25 / 1.79	0	68	-2
4	PEL	12 / 14 (0.857)	15 / 18 (0.833)	0 / 1 (0.000)	(293.0)	31	25 / 1.67	1	69	-1
TOTAL:		41 / 56 (0.732)	53 / 72 (0.736)	1 / 2 (0.500)	(282.9)	119	93 / 1.75	1	277	-3

**Robyn Choi (-3)**

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	14 / 14 (1.000)	11 / 18 (0.611)	0 / 0 (0.000)	(231.0)	27	20 / 1.82	0	71	+1
2	PEL	14 / 14 (1.000)	16 / 18 (0.889)	0 / 0 (0.000)	(243.0)	31	27 / 1.69	0	67	-3
3	PEL	14 / 14 (1.000)	13 / 18 (0.722)	1 / 1 (1.000)	(278.5)	31	24 / 1.85	0	70	E
4	PEL	11 / 14 (0.786)	11 / 18 (0.611)	2 / 2 (1.000)	(269.0)	27	17 / 1.55	0	69	-1
TOTAL:		53 / 56 (0.946)	51 / 72 (0.708)	3 / 3 (1.000)	(255.4)	116	88 / 1.73	0	277	-3

**Madelene Sagstrom (-3)**

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	9 / 14 (0.643)	14 / 18 (0.778)	0 / 0 (0.000)	(265.0)	28	22 / 1.57	1	68	-2
2	PEL	7 / 14 (0.500)	10 / 18 (0.556)	0 / 2 (0.000)	(252.0)	27	15 / 1.50	1	69	-1
3	PEL	8 / 14 (0.571)	14 / 18 (0.778)	1 / 1 (1.000)	(285.0)	32	26 / 1.86	1	70	E
4	PEL	11 / 14 (0.786)	12 / 18 (0.667)	2 / 2 (1.000)	(292.0)	30	23 / 1.92	1	70	E
TOTAL:		35 / 56 (0.625)	50 / 72 (0.694)	3 / 5 (0.600)	(273.5)	117	86 / 1.72	4	277	-3

**Paula Reto (-3)**

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	10 / 14 (0.714)	10 / 18 (0.556)	1 / 1 (1.000)	(245.5)	26	16 / 1.60	0	70	E
2	PEL	8 / 14 (0.571)	11 / 18 (0.611)	0 / 0 (0.000)	(259.5)	29	20 / 1.82	0	70	E
3	PEL	11 / 14 (0.786)	15 / 18 (0.833)	0 / 0 (0.000)	(283.5)	28	24 / 1.60	0	65	-5
4	PEL	13 / 14 (0.929)	14 / 18 (0.778)	0 / 0 (0.000)	(286.0)	33	27 / 1.93	2	72	+2
TOTAL:		42 / 56 (0.750)	50 / 72 (0.694)	1 / 1 (1.000)	(268.6)	116	87 / 1.74	2	277	-3

**Carlota Ciganda (-3)**

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	13 / 14 (0.929)	10 / 18 (0.556)	0 / 0 (0.000)	(263.0)	26	18 / 1.80	0	69	-1
2	PEL	9 / 14 (0.643)	10 / 18 (0.556)	0 / 0 (0.000)	(262.5)	24	14 / 1.40	1	65	-5
3	PEL	12 / 14 (0.857)	11 / 18 (0.611)	0 / 0 (0.000)	(298.0)	29	19 / 1.73	0	70	E
4	PEL	8 / 14 (0.571)	13 / 18 (0.722)	0 / 1 (0.000)	(307.5)	34	25 / 1.92	2	73	+3
TOTAL:		42 / 56 (0.750)	44 / 72 (0.611)	0 / 1 (0.000)	(282.8)	113	76 / 1.73	3	277	-3

**Jenny Bae (-2)**

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	13 / 14 (0.929)	15 / 18 (0.833)	0 / 0 (0.000)	(256.0)	33	29 / 1.93	1	70	E
2	PEL	12 / 14 (0.857)	13 / 18 (0.722)	0 / 0 (0.000)	(260.0)	32	25 / 1.92	1	71	+1
3	PEL	13 / 14 (0.929)	16 / 18 (0.889)	0 / 0 (0.000)	(289.5)	33	31 / 1.94	1	69	-1
4	PEL	9 / 14 (0.643)	12 / 18 (0.667)	1 / 1 (1.000)	(289.5)	29	22 / 1.83	1	68	-2
TOTAL:		47 / 56 (0.839)	56 / 72 (0.778)	1 / 1 (1.000)	(273.8)	127	107 / 1.91	4	278	-2

PLAYER HOLE STATISTICS - By Leaderboard  
 2025 The ANNIKA driven by Gainbridge at Pelican  
 Pelican Golf Club

Sunday, November 16, 2025

Purse: \$3,250,000.00  
 Par: 35 35 - 70 Yardage: 6349

Olivia Cowan (-2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	14 / 14 (1.000)	17 / 18 (0.944)	0 / 0 (0.000)	(254.5)	33	32 / 1.88	1	68	-2
2	PEL	10 / 14 (0.714)	13 / 18 (0.722)	0 / 0 (0.000)	(252.5)	31	22 / 1.69	0	72	+2
3	PEL	12 / 14 (0.857)	15 / 18 (0.833)	0 / 0 (0.000)	(272.5)	32	29 / 1.93	2	69	-1
4	PEL	12 / 14 (0.857)	13 / 18 (0.722)	0 / 0 (0.000)	(269.0)	29	23 / 1.77	1	69	-1
TOTAL:		48 / 56 (0.857)	58 / 72 (0.806)	0 / 0 (0.000)	(262.1)	125	106 / 1.83	4	278	-2

Bailey Tardy (-2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	10 / 14 (0.714)	11 / 18 (0.611)	0 / 1 (0.000)	(262.0)	32	22 / 2.00	3	74	+4
2	PEL	13 / 14 (0.929)	15 / 18 (0.833)	0 / 0 (0.000)	(260.5)	29	25 / 1.67	1	66	-4
3	PEL	9 / 14 (0.643)	11 / 18 (0.611)	2 / 3 (0.667)	(301.0)	28	20 / 1.82	1	68	-2
4	PEL	12 / 14 (0.857)	13 / 18 (0.722)	0 / 1 (0.000)	(297.5)	30	24 / 1.85	1	70	E
TOTAL:		44 / 56 (0.786)	50 / 72 (0.694)	2 / 5 (0.400)	(280.3)	119	91 / 1.82	6	278	-2

A Lim Kim (-2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	11 / 14 (0.786)	15 / 18 (0.833)	0 / 0 (0.000)	(266.0)	32	27 / 1.80	1	70	E
2	PEL	10 / 14 (0.714)	11 / 18 (0.611)	0 / 0 (0.000)	(253.0)	29	19 / 1.73	0	70	E
3	PEL	13 / 14 (0.929)	14 / 18 (0.778)	2 / 2 (1.000)	(303.5)	31	25 / 1.79	1	68	-2
4	PEL	9 / 14 (0.643)	14 / 18 (0.778)	0 / 0 (0.000)	(299.0)	32	27 / 1.93	1	70	E
TOTAL:		43 / 56 (0.768)	54 / 72 (0.750)	2 / 2 (1.000)	(280.4)	124	98 / 1.81	3	278	-2

Chisato Iwai (-1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	12 / 14 (0.857)	13 / 18 (0.722)	0 / 0 (0.000)	(246.5)	30	23 / 1.77	1	69	-1
2	PEL	12 / 14 (0.857)	13 / 18 (0.722)	0 / 0 (0.000)	(263.0)	32	23 / 1.77	1	71	+1
3	PEL	14 / 14 (1.000)	15 / 18 (0.833)	0 / 0 (0.000)	(276.5)	34	29 / 1.93	0	71	+1
4	PEL	12 / 14 (0.857)	13 / 18 (0.722)	2 / 2 (1.000)	(270.0)	29	22 / 1.69	0	68	-2
TOTAL:		50 / 56 (0.893)	54 / 72 (0.750)	2 / 2 (1.000)	(264.0)	125	97 / 1.80	2	279	-1

Jenny Shin (-1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	12 / 14 (0.857)	13 / 18 (0.722)	0 / 0 (0.000)	(240.5)	30	23 / 1.77	1	69	-1
2	PEL	10 / 14 (0.714)	10 / 18 (0.556)	3 / 3 (1.000)	(241.0)	30	20 / 2.00	1	72	+2
3	PEL	11 / 14 (0.786)	14 / 18 (0.778)	1 / 1 (1.000)	(276.5)	31	26 / 1.86	1	69	-1
4	PEL	12 / 14 (0.857)	12 / 18 (0.667)	0 / 1 (0.000)	(271.0)	28	21 / 1.75	1	69	-1
TOTAL:		45 / 56 (0.804)	49 / 72 (0.681)	4 / 5 (0.800)	(257.3)	119	90 / 1.84	4	279	-1

Lauren Hartlage (-1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	12 / 14 (0.857)	13 / 18 (0.722)	0 / 0 (0.000)	(255.0)	29	21 / 1.62	1	68	-2
2	PEL	12 / 14 (0.857)	13 / 18 (0.722)	0 / 0 (0.000)	(258.0)	31	24 / 1.85	0	71	+1
3	PEL	7 / 14 (0.500)	13 / 18 (0.722)	0 / 0 (0.000)	(276.0)	30	25 / 1.92	1	70	E
4	PEL	10 / 14 (0.714)	11 / 18 (0.611)	1 / 2 (0.500)	(279.0)	28	20 / 1.82	0	70	E
TOTAL:		41 / 56 (0.732)	50 / 72 (0.694)	1 / 2 (0.500)	(267.0)	118	90 / 1.80	2	279	-1

PLAYER HOLE STATISTICS - By Leaderboard  
 2025 The ANNIKA driven by Gainbridge at Pelican  
 Pelican Golf Club

Sunday, November 16, 2025

Purse: \$3,250,000.00  
 Par: 35 35 - 70 Yardage: 6349

Leona Maguire (-1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	12 / 14 (0.857)	14 / 18 (0.778)	0 / 0 (0.000)	(232.5)	29	24 / 1.71	1	67	-3
2	PEL	13 / 14 (0.929)	12 / 18 (0.667)	1 / 1 (1.000)	(231.0)	32	25 / 2.08	1	72	+2
3	PEL	11 / 14 (0.786)	12 / 18 (0.667)	1 / 1 (1.000)	(255.0)	30	22 / 1.83	0	70	E
4	PEL	12 / 14 (0.857)	10 / 18 (0.556)	0 / 0 (0.000)	(261.0)	27	19 / 1.90	0	70	E
TOTAL:		48 / 56 (0.857)	48 / 72 (0.667)	2 / 2 (1.000)	(244.9)	118	90 / 1.88	2	279	-1

Linnea Strom (E)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	13 / 14 (0.929)	13 / 18 (0.722)	0 / 0 (0.000)	(225.5)	29	22 / 1.69	1	69	-1
2	PEL	13 / 14 (0.929)	12 / 18 (0.667)	0 / 1 (0.000)	(258.5)	31	21 / 1.75	1	72	+2
3	PEL	11 / 14 (0.786)	12 / 18 (0.667)	0 / 0 (0.000)	(281.0)	28	22 / 1.83	1	69	-1
4	PEL	8 / 14 (0.571)	9 / 18 (0.500)	0 / 1 (0.000)	(278.5)	27	17 / 1.89	1	70	E
TOTAL:		45 / 56 (0.804)	46 / 72 (0.639)	0 / 2 (0.000)	(260.9)	115	82 / 1.78	4	280	E

Celine Borge (E)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	10 / 14 (0.714)	11 / 18 (0.611)	0 / 1 (0.000)	(235.0)	33	22 / 2.00	1	75	+5
2	PEL	11 / 14 (0.786)	14 / 18 (0.778)	0 / 0 (0.000)	(251.5)	27	22 / 1.57	0	65	-5
3	PEL	12 / 14 (0.857)	14 / 18 (0.778)	0 / 1 (0.000)	(281.0)	32	25 / 1.79	0	70	E
4	PEL	8 / 14 (0.571)	13 / 18 (0.722)	1 / 1 (1.000)	(256.0)	27	22 / 1.69	1	70	E
TOTAL:		41 / 56 (0.732)	52 / 72 (0.722)	1 / 3 (0.333)	(255.9)	119	91 / 1.75	2	280	E

Anne-Sterre den Dunnen (a) \* (E)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	8 / 14 (0.571)	9 / 18 (0.500)	0 / 1 (0.000)	(262.0)	26	14 / 1.56	0	72	+2
2	PEL	10 / 14 (0.714)	12 / 18 (0.667)	0 / 0 (0.000)	(255.0)	28	21 / 1.75	0	68	-2
3	PEL	7 / 14 (0.500)	11 / 18 (0.611)	0 / 0 (0.000)	(297.5)	28	18 / 1.64	0	70	E
4	PEL	9 / 14 (0.643)	11 / 18 (0.611)	0 / 0 (0.000)	(291.5)	28	20 / 1.82	0	70	E
TOTAL:		34 / 56 (0.607)	43 / 72 (0.597)	0 / 1 (0.000)	(276.5)	110	73 / 1.70	0	280	E

Pajaree Anannarukarn (E)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	12 / 14 (0.857)	11 / 18 (0.611)	0 / 1 (0.000)	(242.5)	29	20 / 1.82	1	70	E
2	PEL	14 / 14 (1.000)	15 / 18 (0.833)	0 / 0 (0.000)	(250.5)	32	28 / 1.87	1	70	E
3	PEL	14 / 14 (1.000)	16 / 18 (0.889)	0 / 0 (0.000)	(284.5)	33	29 / 1.81	1	69	-1
4	PEL	10 / 14 (0.714)	11 / 18 (0.611)	0 / 0 (0.000)	(260.0)	28	18 / 1.64	0	71	+1
TOTAL:		50 / 56 (0.893)	53 / 72 (0.736)	0 / 1 (0.000)	(259.4)	122	95 / 1.79	3	280	E

Anna Nordqvist (E)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	14 / 14 (1.000)	8 / 18 (0.444)	0 / 0 (0.000)	(244.5)	27	16 / 2.00	0	74	+4
2	PEL	13 / 14 (0.929)	15 / 18 (0.833)	0 / 0 (0.000)	(248.5)	28	24 / 1.60	0	65	-5
3	PEL	11 / 14 (0.786)	12 / 18 (0.667)	0 / 0 (0.000)	(270.0)	30	21 / 1.75	0	70	E
4	PEL	11 / 14 (0.786)	13 / 18 (0.722)	0 / 0 (0.000)	(261.0)	31	23 / 1.77	1	71	+1
TOTAL:		49 / 56 (0.875)	48 / 72 (0.667)	0 / 0 (0.000)	(256.0)	116	84 / 1.75	1	280	E

PLAYER HOLE STATISTICS - By Leaderboard  
 2025 The ANNIKA driven by Gainbridge at Pelican  
 Pelican Golf Club

Sunday, November 16, 2025

Purse: \$3,250,000.00  
 Par: 35 35 - 70 Yardage: 6349

Cassie Porter (E)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	10 / 14 (0.714)	16 / 18 (0.889)	1 / 1 (1.000)	(265.0)	32	30 / 1.88	2	69	-1
2	PEL	10 / 14 (0.714)	10 / 18 (0.556)	0 / 0 (0.000)	(267.5)	26	17 / 1.70	1	69	-1
3	PEL	9 / 14 (0.643)	12 / 18 (0.667)	0 / 0 (0.000)	(289.5)	30	22 / 1.83	1	70	E
4	PEL	12 / 14 (0.857)	11 / 18 (0.611)	0 / 1 (0.000)	(289.5)	28	19 / 1.73	0	72	+2
TOTAL:		41 / 56 (0.732)	49 / 72 (0.681)	1 / 2 (0.500)	(277.9)	116	88 / 1.80	4	280	E

Mi Hyang Lee (+1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	10 / 14 (0.714)	12 / 18 (0.667)	0 / 0 (0.000)	(238.0)	29	21 / 1.75	0	69	-1
2	PEL	10 / 14 (0.714)	10 / 18 (0.556)	0 / 0 (0.000)	(258.5)	27	16 / 1.60	1	71	+1
3	PEL	8 / 14 (0.571)	12 / 18 (0.667)	1 / 2 (0.500)	(283.0)	30	19 / 1.58	2	73	+3
4	PEL	12 / 14 (0.857)	14 / 18 (0.778)	0 / 0 (0.000)	(286.0)	31	26 / 1.86	1	68	-2
TOTAL:		40 / 56 (0.714)	48 / 72 (0.667)	1 / 2 (0.500)	(266.4)	117	82 / 1.71	4	281	+1

Minami Katsu (+1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	10 / 14 (0.714)	11 / 18 (0.611)	0 / 0 (0.000)	(244.0)	31	19 / 1.73	2	72	+2
2	PEL	10 / 14 (0.714)	15 / 18 (0.833)	0 / 0 (0.000)	(244.0)	32	28 / 1.87	1	69	-1
3	PEL	14 / 14 (1.000)	11 / 18 (0.611)	1 / 1 (1.000)	(289.0)	28	18 / 1.64	0	70	E
4	PEL	11 / 14 (0.786)	14 / 18 (0.778)	0 / 0 (0.000)	(276.0)	30	25 / 1.79	1	70	E
TOTAL:		45 / 56 (0.804)	51 / 72 (0.708)	1 / 1 (1.000)	(263.3)	121	90 / 1.76	4	281	+1

Sarah Schmelzel (+1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	10 / 14 (0.714)	9 / 18 (0.500)	0 / 1 (0.000)	(248.5)	27	14 / 1.56	0	72	+2
2	PEL	12 / 14 (0.857)	15 / 18 (0.833)	0 / 0 (0.000)	(261.5)	30	26 / 1.73	1	67	-3
3	PEL	10 / 14 (0.714)	13 / 18 (0.722)	0 / 0 (0.000)	(280.5)	29	22 / 1.69	0	70	E
4	PEL	13 / 14 (0.929)	12 / 18 (0.667)	1 / 2 (0.500)	(284.0)	31	20 / 1.67	0	72	+2
TOTAL:		45 / 56 (0.804)	49 / 72 (0.681)	1 / 3 (0.333)	(268.6)	117	82 / 1.67	1	281	+1

Kate Smith-Stroh (+2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	11 / 14 (0.786)	10 / 18 (0.556)	0 / 0 (0.000)	(235.0)	30	19 / 1.90	2	73	+3
2	PEL	12 / 14 (0.857)	13 / 18 (0.722)	0 / 0 (0.000)	(228.5)	27	22 / 1.69	0	66	-4
3	PEL	12 / 14 (0.857)	10 / 18 (0.556)	0 / 0 (0.000)	(278.0)	28	16 / 1.60	0	71	+1
4	PEL	13 / 14 (0.929)	9 / 18 (0.500)	0 / 0 (0.000)	(274.5)	28	17 / 1.89	1	72	+2
TOTAL:		48 / 56 (0.857)	42 / 72 (0.583)	0 / 0 (0.000)	(254.0)	113	74 / 1.76	3	282	+2

Albane Valenzuela (+2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	14 / 14 (1.000)	14 / 18 (0.778)	0 / 1 (0.000)	(256.5)	29	25 / 1.79	0	68	-2
2	PEL	11 / 14 (0.786)	12 / 18 (0.667)	0 / 0 (0.000)	(257.0)	27	19 / 1.58	0	67	-3
3	PEL	10 / 14 (0.714)	11 / 18 (0.611)	0 / 0 (0.000)	(272.0)	29	19 / 1.73	0	72	+2
4	PEL	13 / 14 (0.929)	11 / 18 (0.611)	0 / 1 (0.000)	(283.5)	33	22 / 2.00	0	75	+5
TOTAL:		48 / 56 (0.857)	48 / 72 (0.667)	0 / 2 (0.000)	(267.3)	118	85 / 1.77	0	282	+2

PLAYER HOLE STATISTICS - By Leaderboard  
 2025 The ANNIKA driven by Gainbridge at Pelican  
 Pelican Golf Club

Sunday, November 16, 2025

Purse: \$3,250,000.00  
 Par: 35 35 - 70 Yardage: 6349

Ashleigh Buhai (+3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	10 / 14 (0.714)	13 / 18 (0.722)	0 / 1 (0.000)	(244.0)	30	24 / 1.85	1	70	E
2	PEL	11 / 14 (0.786)	14 / 18 (0.778)	0 / 0 (0.000)	(247.0)	32	27 / 1.93	0	71	+1
3	PEL	14 / 14 (1.000)	15 / 18 (0.833)	1 / 1 (1.000)	(261.5)	32	28 / 1.87	3	69	-1
4	PEL	10 / 14 (0.714)	11 / 18 (0.611)	0 / 0 (0.000)	(274.0)	31	19 / 1.73	1	73	+3
TOTAL:		45 / 56 (0.804)	53 / 72 (0.736)	1 / 2 (0.500)	(256.6)	125	98 / 1.85	5	283	+3

Miyu Yamashita (+5)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	11 / 14 (0.786)	15 / 18 (0.833)	0 / 0 (0.000)	(237.5)	31	26 / 1.73	2	69	-1
2	PEL	12 / 14 (0.857)	16 / 18 (0.889)	0 / 0 (0.000)	(235.0)	34	31 / 1.94	0	71	+1
3	PEL	9 / 14 (0.643)	11 / 18 (0.611)	0 / 1 (0.000)	(264.5)	27	19 / 1.73	0	70	E
4	PEL	13 / 14 (0.929)	13 / 18 (0.722)	0 / 0 (0.000)	(256.0)	30	22 / 1.69	2	75	+5
TOTAL:		45 / 56 (0.804)	55 / 72 (0.764)	0 / 1 (0.000)	(248.3)	122	98 / 1.78	4	285	+5

Caroline Inglis (+12)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	PEL	11 / 14 (0.786)	14 / 18 (0.778)	0 / 0 (0.000)	(233.5)	33	27 / 1.93	1	72	+2
2	PEL	13 / 14 (0.929)	13 / 18 (0.722)	0 / 0 (0.000)	(244.5)	30	23 / 1.77	1	69	-1
3	PEL	11 / 14 (0.786)	9 / 18 (0.500)	0 / 1 (0.000)	(269.5)	28	16 / 1.78	1	76	+6
4	PEL	11 / 14 (0.786)	10 / 18 (0.556)	1 / 3 (0.333)	(263.0)	30	18 / 1.80	0	75	+5
TOTAL:		46 / 56 (0.821)	46 / 72 (0.639)	1 / 4 (0.250)	(252.6)	121	84 / 1.83	3	292	+12

# 2025 The ANNIKA driven by Gainbridge at Pelican

## Round 4 Hole Summary

Sunday, November 16, 2025  
Pelican Golf Club

Purse: \$3,250,000.00  
Par: 35 35 - 70 Yardage: 6349

Hole	Par	Rnd 1	Rnd 2	Rnd 3	Rnd 4	Tm Total	Rank		Rank	-2	-1	0	+1	+2	Other
1	4	3.898	3.667	3.870	3.565	3.757	16	<b>RND 4:</b>	18	1	31	34	3	0	0
								<b>Total:</b>		1	105	227	21	0	0
2	4	4.315	4.157	4.377	4.449	4.305	2	<b>RND 4:</b>	1	0	8	37	17	1	6
								<b>Total:</b>		0	32	211	90	15	6
3	3	3.065	2.944	2.884	2.971	2.975	9	<b>RND 4:</b>	7	0	10	51	8	0	0
								<b>Total:</b>		1	56	251	43	3	0
4	4	4.037	4.028	4.014	4.072	4.037	6	<b>RND 4:</b>	3	0	5	54	10	0	0
								<b>Total:</b>		0	41	262	48	3	0
5	4	4.167	4.157	3.942	3.855	4.059	5	<b>RND 4:</b>	10	1	15	46	7	0	0
								<b>Total:</b>		2	61	220	59	9	3
6	4	3.824	3.880	3.928	3.783	3.853	15	<b>RND 4:</b>	14	1	16	49	3	0	0
								<b>Total:</b>		1	87	236	26	2	2
7	5	4.769	4.630	4.522	4.623	4.650	18	<b>RND 4:</b>	16	0	31	33	5	0	0
								<b>Total:</b>		2	145	184	22	0	1
8	4	4.157	4.324	4.261	4.362	4.268	3	<b>RND 4:</b>	2	0	2	43	21	3	0
								<b>Total:</b>		0	25	220	99	9	1
9	3	2.898	2.824	2.841	3.000	2.884	12	<b>RND 4:</b>	6	0	11	49	8	0	1
								<b>Total:</b>		0	84	231	36	2	1
Out	35	35.130	34.611	34.639	34.680	34.788		<b>RND 4:</b>		3	129	396	82	4	7
								<b>Total:</b>		7	636	2042	444	43	14
10	4	4.389	4.074	3.986	3.841	4.107	4	<b>RND 4:</b>	11	0	17	46	6	0	0
								<b>Total:</b>		0	44	235	69	5	1
11	4	4.000	3.852	3.942	3.884	3.921	10	<b>RND 4:</b>	9	0	16	45	8	0	0
								<b>Total:</b>		0	72	239	42	1	0
12	3	2.861	3.065	2.942	2.609	2.890	11	<b>RND 4:</b>	17	1	28	37	3	0	0
								<b>Total:</b>		1	94	212	38	8	1
13	4	4.046	4.056	3.899	3.841	3.980	8	<b>RND 4:</b>	11	0	15	50	4	0	0
								<b>Total:</b>		0	63	237	52	2	0
14	5	4.796	4.657	4.449	4.652	4.658	17	<b>RND 4:</b>	15	1	28	34	6	0	0
								<b>Total:</b>		6	131	196	20	1	0
15	3	3.065	3.130	2.870	3.014	3.037	6	<b>RND 4:</b>	5	0	14	42	12	0	1
								<b>Total:</b>		0	58	232	58	5	1
16	4	3.787	4.009	3.768	3.942	3.881	13	<b>RND 4:</b>	8	0	13	48	7	1	0
								<b>Total:</b>		0	84	232	34	4	0
17	4	3.954	3.880	3.783	3.826	3.873	14	<b>RND 4:</b>	13	0	18	45	6	0	0
								<b>Total:</b>		0	96	211	43	4	0
18	4	4.685	4.398	4.246	4.072	4.393	1	<b>RND 4:</b>	3	0	15	39	11	3	1
								<b>Total:</b>		0	38	184	100	22	10
In	35	35.583	35.121	33.885	33.681	34.740		<b>RND 4:</b>		2	164	386	63	4	2
								<b>Total:</b>		7	680	1978	456	52	13
TOTAL	70	70.713	69.732	68.524	68.361	69.528		<b>RND 4:</b>		5	293	782	145	8	9
								<b>Total:</b>		14	1316	4020	900	95	27

# 2025 The ANNIKA driven by Gainbridge at Pelican

Boxscore

Purse: \$3,250,000.00

Par: 35 35 - 70 Yardage: 6349

---

## Low Scores For Round 1

64 Haeran Ryu  
65 Grace Kim  
66 Jennifer Kupcho  
67 Charley Hull  
67 Somi Lee  
67 Leona Maguire  
67 Mao Saigo  
68 Allisen Corpuz  
68 Lauren Coughlin  
68 Olivia Cowan  
68 Linn Grant  
68 Lauren Hartlage  
68 Morgane Metraux  
68 Madelene Sagstrom  
68 Albane Valenzuela  
68 Arpichaya Yubol  
68 Rose Zhang

## Low Scores For Round 2

63 Karis Anne Davidson  
63 Linn Grant  
63 Nelly Korda  
64 Gaby Lopez  
64 Yuna Nishimura  
65 Celine Borge  
65 Carlota Ciganda  
65 Auston Kim  
65 Lucy Li  
65 Anna Nordqvist

## Low Scores For Round 3

63 Nataliya Guseva  
64 In Gee Chun  
64 Brooke Matthews  
65 Linn Grant  
65 Nanna Koerstz Madsen  
65 Jennifer Kupcho  
65 Lucy Li  
65 Alexa Pano  
65 Paula Reto  
65 Pauline Roussin-Bouchard

## Low Scores For Round 4

63 Charley Hull  
63 Auston Kim  
64 Lindy Duncan  
64 Pauline Roussin-Bouchard  
65 Celine Boutier

65 Brianna Do  
65 Linn Grant  
65 Gurleen Kaur  
65 Gaby Lopez  
65 Brooke Matthews  
65 Mao Saigo  
65 Rio Takeda  
65 Ina Yoon

Low 9

29 Nataliya Guseva            ROUND 3 IN

Low 18

63 Karis Anne Davidson      ROUND 2  
63 Linn Grant                 ROUND 2  
63 Nataliya Guseva            ROUND 3  
63 Charley Hull                ROUND 4  
63 Auston Kim                 ROUND 4  
63 Nelly Korda                ROUND 2

Low 36

131 Linn Grant  
131 Grace Kim

Low 54

196 Linn Grant

Rounds in the 60s

4 Lauren Coughlin  
4 Linn Grant  
4 Nataliya Guseva  
4 Esther Henseleit  
4 Charley Hull  
4 Auston Kim  
4 Grace Kim  
4 Jennifer Kupcho  
4 Gaby Lopez  
4 Gabriela Ruffels  
4 Haeran Ryu  
4 Rio Takeda

Sub-Pars in a Round

11 Brooke Matthews            ROUND 3

Eagles in a Round

1 In Gee Chun                 ROUND 3 HOLE: 14  
1 Hannah Green                ROUND 3 HOLE: 5  
1 Auston Kim                  ROUND 2 HOLE: 7  
1 Nanna Koerstz Madsen      ROUND 2 HOLE: 7  
1 Jennifer Kupcho              ROUND 2 HOLE: 14  
1 Brooke Matthews             ROUND 4 HOLE: 14  
1 Anna Nordqvist                ROUND 4 HOLE: 6  
1 Pauline Roussin-Bouchard    ROUND 3 HOLE: 14  
1 Patty Tavatanakit            ROUND 4 HOLE: 5  
1 Amy Yang                     ROUND 3 HOLE: 14

1 Ina Yoon                      ROUND 4 HOLE: 1  
1 Rose Zhang                    ROUND 3 HOLE: 14

Consecutive Eagles

Consecutive Sub-Pars

6 Madelene Sagstrom            FROM ROUND:1 HOLE:14 TO ROUND:2 HOLE:1

Consecutive Non-Bogeys

43 Linn Grant                    FROM ROUND:2 HOLE:11 TO ROUND:4 HOLE:17

Most Sub-Pars in the Event

25 Brooke Matthews

Most Birdies in the Event

24 Linn Grant

Holes In One

1 Brooke Matthews              ROUND: 4 HOLE: 12  
1 Bailey Tardy                    ROUND: 2 HOLE: 3

Double Eagles

Fewest Putts For 18 Holes

25 Somi Lee  
25 Morgane Metraux  
25 Xiaowen Yin

Fewest Putts For 36 Holes

50 Carlota Ciganda

Fewest Putts For 54 Holes

79 Carlota Ciganda

Fewest Putts For 72 Holes

108 Gurleen Kaur

Fewest Putts Per GIR For 18 Holes

1.54 Charley Hull

Fewest Putts Per GIR For 36 Holes

1.54 Jennifer Kupcho  
1.54 Lucy Li  
1.54 Madelene Sagstrom

Fewest Putts Per GIR For 54 Holes

1.57 Jennifer Kupcho

Fewest Putts Per GIR For 72 Holes

1.56 Brooke Matthews

Round Hole Summary 2025 The ANNIKA driven by Pelican Golf Club

Cambridge at Pelican

Hole	Par	Tm Avg	Rank	Average	Rank	-2	-1	Par	+1	+2	Other	
1	4	3.757	16	Round 1:	3.898	12	0	20	79	9	0	0
				Round 2:	3.667	16	0	41	62	5	0	0
				Round 3:	3.870	12	0	13	52	4	0	0
				Round 4:	3.565	18	1	31	34	3	0	0
2	4	4.305	2	Round 1:	4.315	3	0	10	60	32	6	0
				Round 2:	4.157	3	0	12	71	21	4	0
				Round 3:	4.377	1	0	2	43	20	4	0
				Round 4:	4.449	1	0	8	37	17	1	6
3	3	2.975	9	Round 1:	3.065	6	0	13	76	18	1	0
				Round 2:	2.944	11	1	21	71	13	2	0
				Round 3:	2.884	11	0	12	53	4	0	0
				Round 4:	2.971	7	0	10	51	8	0	0
4	4	4.037	6	Round 1:	4.037	9	0	15	76	15	2	0
				Round 2:	4.028	9	0	14	78	15	1	0
				Round 3:	4.014	4	0	7	54	8	0	0
				Round 4:	4.072	3	0	5	54	10	0	0
5	4	4.059	5	Round 1:	4.167	4	0	17	63	21	7	0
				Round 2:	4.157	3	0	11	72	23	1	1
				Round 3:	3.942	6	1	18	39	8	1	2
				Round 4:	3.855	10	1	15	46	7	0	0
6	4	3.853	15	Round 1:	3.824	15	0	28	71	9	0	0
				Round 2:	3.880	12	0	24	74	9	1	0
				Round 3:	3.928	9	0	19	42	5	1	2
				Round 4:	3.783	14	1	16	49	3	0	0
7	5	4.650	18	Round 1:	4.769	18	0	35	65	7	0	1
				Round 2:	4.630	18	2	44	54	8	0	0
				Round 3:	4.522	17	0	35	32	2	0	0
				Round 4:	4.623	16	0	31	33	5	0	0
8	4	4.268	3	Round 1:	4.157	5	0	11	71	25	0	1
				Round 2:	4.324	2	0	4	66	37	1	0
				Round 3:	4.261	2	0	8	40	16	5	0
				Round 4:	4.362	2	0	2	43	21	3	0
9	3	2.884	12	Round 1:	2.898	12	0	23	73	12	0	0
				Round 2:	2.824	15	0	29	69	10	0	0
				Round 3:	2.841	14	0	21	40	6	2	0
				Round 4:	3.000	6	0	11	49	8	0	1
Out	35	34.788	Round 1:	35.130		0	172	634	148	16	2	
			Round 2:	34.611		3	200	617	141	10	1	
			Round 3:	34.639		1	135	395	73	13	4	
			Round 4:	34.680		3	129	396	82	4	7	
10	4	4.107	4	Round 1:	4.389	2	0	2	68	33	4	1
				Round 2:	4.074	6	0	11	79	17	1	0
				Round 3:	3.986	5	0	14	42	13	0	0
				Round 4:	3.841	11	0	17	46	6	0	0
11	4	3.921	10	Round 1:	4.000	10	0	18	72	18	0	0
				Round 2:	3.852	14	0	24	77	6	1	0
				Round 3:	3.942	6	0	14	45	10	0	0
				Round 4:	3.884	9	0	16	45	8	0	0
12	3	2.890	11	Round 1:	2.861	14	0	29	66	12	1	0
				Round 2:	3.065	7	0	21	65	16	6	0
				Round 3:	2.942	6	0	16	44	7	1	1
				Round 4:	2.609	17	1	28	37	3	0	0
13	4	3.980	8	Round 1:	4.046	8	0	16	72	19	1	0
				Round 2:	4.056	8	0	15	73	19	1	0
				Round 3:	3.899	10	0	17	42	10	0	0
				Round 4:	3.841	11	0	15	50	4	0	0
14	5	4.658	17	Round 1:	4.796	16	0	27	77	3	1	0
				Round 2:	4.657	17	1	42	58	7	0	0
				Round 3:	4.449	18	4	34	27	4	0	0
				Round 4:	4.652	15	1	28	34	6	0	0
15	3	3.037	6	Round 1:	3.065	6	0	15	74	16	3	0
				Round 2:	3.130	5	0	11	74	21	2	0
				Round 3:	2.870	12	0	18	42	9	0	0
				Round 4:	3.014	5	0	14	42	12	0	1
16	4	3.881	13	Round 1:	3.787	17	0	29	73	6	0	0
				Round 2:	4.009	10	0	20	69	17	2	0
				Round 3:	3.768	16	0	22	42	4	1	0
				Round 4:	3.942	8	0	13	48	7	1	0
17	4	3.873	14	Round 1:	3.954	11	0	29	58	18	3	0
				Round 2:	3.880	12	0	30	62	15	1	0
				Round 3:	3.783	15	0	19	46	4	0	0
				Round 4:	3.826	13	0	18	45	6	0	0
18	4	4.393	1	Round 1:	4.685	1	0	5	44	46	8	5
				Round 2:	4.398	1	0	12	58	26	8	4
				Round 3:	4.246	3	0	6	43	17	3	0
				Round 4:	4.072	3	0	15	39	11	3	1
In	35	34.740	Round 1:	35.583		0	170	604	171	21	6	
			Round 2:	35.121		1	186	615	144	22	4	
			Round 3:	33.885		4	160	373	78	5	1	
			Round 4:	33.681		2	164	386	63	4	2	
Total:	70	69.528	Round 1:	70.713		0	342	1238	319	37	8	
			Round 2:	69.732		4	386	1232	285	32	5	
			Round 3:	68.524		5	295	768	151	18	5	
			Round 4:	68.361		5	293	782	145	8	9	